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INSTRUCTIONS TO THE CANDIDATE
(Read the Imstructions Carefully Before Answering)

1. Separate Optical Mark Reader (OMR) Answer Sheet is supplied to you along with Question Paper Booklet.
Flmg:ﬂd m&n:u and follow the instructions on the OMR Answer Sheet for marking the responses and the
. requ 3

2. Thecandidate should ensure that the booklet code printed on OMR sheet and question paper booket code supplied
are same.

3. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check for
(i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions (1-200), (iii) The
number of pages and (iv) Correct Printing. In case of any defect, please report to the invigilator and ask for
replacement of booklet with same code within five minutes from the commencement of the test.

4. Electronic gadgets like Cell Phone, Calculator, Watches and Mathematical/Log Tables are not permitted into
the examination hall.

5. Darken the appropriate circles of 1, 2, 3, or 4 in the OMR sheet commesponding to correct or the most
appropriate answer to the concerned question number in the shect. Darkening of more than one circle
against any question automatically gets invalidated.

6. Rough work should be done only in the space provided in the Question Paper Booklet.

7. Return the OMR Answer Sheet to the invigilator before leaving the examination hall. Failure to retum is liable
for criminal action. Question paper Booklet can be taken away by the candidate.

8. The Question Paper Booklet is printed in two languages viz. English / Telugu or English / Urdu. In case of
any doubt or ambiguity in any question, then the English version is considered to be the correct version.

1. & gy Dygind® eorr (OMR) Lt Sam aigadss sorese@ HOSEDE Sbdl wiHERs Jhoved H8oD,
Sapdi OMR Lo 5 adgadd ot SEHED ddodaed

2. @8 656 cdyd OMR L DS S0l §6 Lok LHisio 56 58 wandt® E6° 10 ruEsiES.

3. (R DSsmy TOM Hes Dod BODH Jobl b LB SeESNSD : (i) (50 Ld D o wETS &5 (A/B/C/D)
(i) @ S50 Dogg (1-200), (iii) Sde Lopg odafe (iv) U85 Doofl IR *His ob adc, SalTid
aDETLED BDADSS0A. HOE PrEofold B Dhudre C*he «B wEPS B'E e L8 B ii@od wargeld
wdiiod

4. degmRE0Lores. VIS g0 TE, o es DOc ByD0LL/ Log Tables SolD 08X Heo £08 winindosth

5. [ WESeSD Douodd () Lopgl L85 werw Bom wdged iSRS marwd wibeonr OMR  Lad'D
$0% 1, 2, 3 do 4 000 gl Soum Og-D. w88 Kol JEnpd 0NN Jold de e DH e
Do ED oS s,

6. 09 DGR ) HSind® HEgstum alyd Peiatbod @D Jabvb.

7. D8F o oD pabt dgEyd OMR 445 alx2Pels al) Ig-0EDT LS SEuD arbgeiithh
i Soie wiigh 08" BRED Debuiyan

8. (o Both pied® imBodeded. mofifi/ Bub Tor wcifi / agm DFS LHS* Lodiriw / bodifs
DEEHT, wofile’ anbendd (b LTS wrDodudidb.
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Time : 2 Hours i Marks : 200

Instructions : ’

(i) Each qustion carries one mark.
(S8 | D% 80 ¥ Sordy,.

(iily  Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4 in the circle
pertaining to the question number concerned in the OMR Answer sheet, separately supplied to

you.

OIS FDYS D8 1HIH WSL08S 5¢3S" JOTS DIFEHEI0D TR TR
Hr0oS @0k 1, 2, 3 BE 4 3 ad S OMR J375mS HeS0S' 154y domide &t
Her HoohHe DEIEH /Tt ard Fronodd D) SHTBrRoD AoHhdB .

1 Match the following positions with the persuns now holding them (as in March 2019) :

Institution & Designation Person’s Name
a. Chief Election Commissioner i. Ranjan Gogoi
b. Chief Justice of India (CII) ii. Rishi Kumar Shukla
¢.  Director, CBI iii. K.V, Chowdary
d. Central Vigilance Commissioner iv. Deepak Misra
Sunil Arora
808 BS) HSHOS oel8 ammm& é;é_;iu 2EE 2SHES0A {SS:I*O;} 2019
reds) .
Hod Hdckn Trror 358 D&
a IDES 2 E0 odsd . Sozd AioD
b. 278eh |1 DS argcieasard (CI) i. &% 550 5HE
c. A0 BOED i, BI85
d.  Bold DABS) EAS5 : i\u ASHHE Dof
SRS E&'B'

Choose the correct answer : / ROT0S DSrrmr Al J.’lﬂhﬁ Dohod
a b c d

M i iv i v
@ i i v . i
OBy v iv i i
@ v i @i

2. Read the pairs about the Kalamsat-V2 :
a. Kalamsat-V2 satellite : World’s lightest satellite
b.  Weight of the satellite : 2.6 kg
c, The satellite was built by : Students of Space Kids India

Choose the correct pairs :
{1)  band ¢ only (2) aandconly
a, band ¢ (4) aandbonly

*Eerord - D27 B DooHoD Lod Béerdd a0

4.  Seroard] - D2 adfisTo  HDotio B, s 8HES an|faro
b. O 2%y 1 2.6 ST

c.  E)HSR) Srdrofodd ot RN 88) 20l Dorptpen.

DOTDS 23805 oD Tabod :
(1) bSO ¢ SFedad (2) aSHodin ¢ S|
(3) aboddinc (4) a0y b aredah

SSI-GS1 2
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3. The National Bench of the Goods and Services Tax Appellate Tribunal (GSTAT), which was
created by the Union Cabinet, is a :
a. Forum of first appeal in GST laws.
b. Common forum of dispute resolution between the centre and states.
Choose the correct answer :

Both a and b are correct (2) Both a and b are not comrect
(3) Only ais correct {(4) Only b is comrect
S0l DTS T Jovptn Tohadd I8 RSO D) eSSy (¢8558 g
rach BoS oI

2. S5 DI HH) Dwodsed’ Ancied o jen §do (B
b. Bold olaro S0dSs Dadd DO T & B JOE

HOES HEAFETR) JoDE FcHoh :

(1) anddinbBodr HOTDLID

(2) anddivbBodr SOTHAD 5%

(3)  adredi HATIS

(4)  baNMSD HOTSO

4. The 13* Conference of Parties (COP) of the Convention on the conservation of migratory species
(CMS) of wild animals is scheduled to be hosted in February 2020 in:

(1Y Bengaluru, Kamataka {(2) Amaravati, Andhra Pradesh

@7 Hyderabad, Telangana (4) Gandhinagar, Gujarat

B 20890 S0l 2rdber HBSEND DOSH 2020 S BSHSODEBAS 13 I
‘S 5388) e ey (COP) HIrBH0/ET DS K8 2o ?

(1) oo, Sgren (2) ewDT S, soIHTT

(3 ooard, oomrs (4) m™ofSES, haod

5. Under which section of the Income Tax Act, linking of PAN with Aadhar is mandatory for filing
of Income Tax returns 7

¢ Section 115A (2) Section 139AA

(3) Section 14A {(4) Section 80AA

Bcrabsy Hdo) B85 (retums) & orpen FdHards verbs drén S (PAN) & Hof
Tado oo Ha) D90 o Deriio S0 $HINHO ?

(1) ESIISA (2) DES 139AA

(3) TES 14A . (4) &S 80AA

SSI-GS1 5
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6. Lokpal search committee, which was constituted by the government of India in September, 2018

is headed by :

(1) Sakha Ram Singh Yadav «7) A. Surya Prakash

(3) Arundhati Bhattacharya (4) Ranjana Prakash Desai _
Daoab 2018 & e 12520e8 50T Woryen ThaddS ‘S'ErdS H5) e’ & w;ﬁm
D580 ?

(1) g o DoRn dirded 2) A rds 1557

(3) ©XHoLda DiFods (4) SoasS 1Hf Brow

@ Who among the following members quit the National Statistical Commission (NSC) in January

2019 ?
a. Amitabh Kant . b. J.V. Meenakshi
c. P.C. Mohanan d.  Pravin Srivastava
The correct answer is :
(I) bonly (2) aandconly
~ (3) bandconly (4) aanddonly - .
2558 2019 & 808 arach Kero¥ EDAS (NSC) H2hgees 55 e EDHS Hod
DNFROTTE 7
a. o=l sos b. JV.Xalk
e, P.C.3TSS d OIS TR0
DOTS B2
(1) b I3reH (2) aSBcsn ¢ Srsh

(3) b Hbciycarsd (4) ad dSrsh

8. In the 2019 Intemational Intellectual Property Index released by the US Chambers of Commerce,
out of 50 countries, India was ranked at

US groal) e s58) & e TS 2019 eosTach He HodHd HrdEst 50
BaredS rdaTid orgok Do 7

(1) 43 25 36

(3) 50 (4) 44

SSI-GS1 4
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9.  Arrange the following four major grand slam tennis tournaments in the chronological order as per
the tennis calendar :

a. The Wimbledon Tennis Tournament

b. The United States Open Tennis Toumnament

¢. The Roland Garros Tennis Tournament

d. The Australian Open Tennis Tournament

Bos Ten DS (rod FH BN S Foohdm WD FIB0ES (DTG0 SHD
Eos' 8308

a oS BLAR &'G3Todd

b. uFLd PSHad LAY S0l

¢. Jood mED LA &Gy oS

d. 8 HOBS 1228 B-YH 6y ods

Choose the correct sequence order : / DO |5 008 Tchod :
(1) ¢ dab (2 d,c,ab

7 d4,b,c,a () b,a,c.d

10. Which of the following ICC cricket awards (for men) were received by Virat Kohli for the year
20187

a T201 performance of the year, 2018
b. ICC ODI player of the year, 2018
c. ICC Men’s Test player of the year, 2018
d. Sir Garfield Sobers Trophy for ICC cricketer of the year, 2018

Choose the correct answer :
(1) aanddonly ' (2) ab,candd
&Y a bandconly (4) b,canddonly

2018 HOSSHTVE M woSTAOH |8 TS (ICO) o8 (Hhive) Laaes wrfys
DS §Ir8 00 35" DTH HEsew HTo Tabvagon ?

2.  oSTS0H T20 S 2018 J05S355 waoged 155838

b. 1CC 2018 o3& 5 ODI Qb

c.  ICC 2018 HoS835:5 Hhive BN RaHS

d. 20185058305 086 rbpd Db ICC 4845 |5

DOTDS AIFEER) JonE Fohod:

(1) aH8cindSMe (2) ab,cSbcind

(3) a boOAWc A& (4) b, c B d Sressh

SSI-GS1 s
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11.  Read the following statéivierits :

a.  National aguatic animal of Thailand is Siamese fighting fish, as per the decision taken by
the Thailand government in February 2019,
b.  Official national animal of Thailand is Tiger.

Choose the correct answer ;

(1) Only a is correct (2) Only b is correct

{3 Both a and b are correct (4) Both a and b are not cormrect
1308 Jiiead SES08

2. Gronerod |HZheé 50 DS 2019 S S8y IPALO HSE0 Fronerod o)
2 HCH 2O B0 RCHRR B TD. (war fish)

b. growerod Gng; eAs6E aradh 2ol 5.

HOT HITTR) JodE Tabod :

(1) a3 ST, (2) bSMED SOTSS.

(3)  aXB0cin b Bodr HOTID. (4) a00ckn b Bodr HOToID 5D,

T2y Match the following vears with the names of the countries in which the G20 summits are held or

to be held -
List-1 (Summit Year) List-1I (Host Country)
a. 2019 i. India
b. 2020 ii. Japan
¢, 2018 tii.  Saudi Arabia
d. 2022 iv. Argentina

2 (G) 20 HSMYe0 SO HN 8BS Brod @ 2008 Dodé ) oros addHdSsod
e (DS Dol (8d P THéo)

DOk JB0)
a. 2019 i réeadido
b. 2020 i =S
c. 2018 iii. 26 eBlHasr
d. 2022 iv. eDos

The correct answer is : / DOTWD AAFETH0 :
a b ¢ d

(1) dv i di i

(2 i v i i

3y i i ii v

@ i @i v i

SSi-GS1 .
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13. Read the following statements about the “Seoul Peace Prize’ :
a. The 2019 Seoul Peace Prize was awarded to Narendra Modj, the Prime Minister of India.
b. The Prime Minister was awarded the prize money of $ 2,00,000.

Choose the comrect answer :

AT Only a is correct (2) Only b is correct

(3) Bothaand b are correct (4) Bnthanndbmnm‘mrrm

'REPS ol 233008 (HD [2F) & 5020800 (208 T IWHEID SSS0M

a. 2019 2SS oS 2I0HE PES 1HESSolS STold IrdE 1Dordo Trd.

b. 768 |08 wdvid Bod Bodh ofo arod (§ 2,00,000) (SamRy
Lenridord.

ROTA DR MOoDE Sdbod ;

(1) adSresdh SOToSo. (2) barSH HOTHIO.

(3) a0k b Bodr HOTHSD. (4) 2S00 b BodT HEBID &5,

14.  Read the following statements regarding the ‘International Day of Women and Girls in Science’ :
. & This day is celebrated every year on | 1" February.
b. This day was declared by the UNDP.

c, The 2019 theme of the day focusses on ‘Education in Science and Technology to Women
and Girls’.

Choose the correct statement/s :

(1} coaly vd}/ a and b only
(3) aonly (4) bandconly .

DS PIRoS Xrde, 2rdis @osTHah OSEITIE JonodoD fob LRI
SSaS08 :

2 & OS8R 1HB H0S8350 DI 11 & 28HE0erd.
b.  UNDP (C5n.85.8.5.) o & Had 8880,
c. 2019 JoS835H HD m oirden, wrdiod T D, FoBE HOFIoS Dy D &

OS50 Sah LSO,
BT i) JoDE THdbod
(1) ez (2) aDoaiy b Sriedsh
(3) admessh (4) bOC ¢ Sredsh

. SSI-GS1 | L
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‘13. Read the following pairs segarding the inauguration of the ‘Africa Center for Climate of
Sustainable Development’ :

a.  Establishment of the center : Quebec city, Canada
b. Partner of the centre : UN Environment Programme (UNEP)
c. Director General of FAO : Jose Graziano da Silva

Choose the correct pair/s :

(1) bandconly (2) conly (3) aonly (4) aand bonly
OPEPRS ®DIYP TEISR0 TOH eDs o|do’ (DEoSS 178 Honodod fod
2SOAD WS008 ;

a. o2 BoldD L:lu-_-}e.::-: 55238 S0, BSar
b. @5 ol TR | d5N.DS. I ST S0l (Hrro (UNEP)
e @, SgSrdd HoP (FAO) Tng) BOEL =88 : &% raairs’ & Doy

DOTnS 2(L) D JoDE Tahod :
(1) boBSSD ¢ STessh (2) camMesdH
(3) adSresh (4) asHBcsw b Sresh

1. As pant of the preparations to celebrate its centenary in 2019, the International Labour
Organisation (ILO) launched which of the following “centenary initiatives™ ?

a. The end of unemployment initiative b.  The end of poverty initiative
¢. The women literacy initiative d. The women at work initiative
¢. The future of work initiative

Choose the correct initiatives :

(1) aandconly {(2) bandeonly

(3) a,candd only (4) b, dandeonly

@OSTaAD 5208 Hod (ILO), 2019 & 85 I8 OS5 Dy Fess arfor 208
QYA & EESTOD HS OE SESen e Fndloa 7

a. ROEW AEMOT SES b. DSOE DEOT TES

c.  Slrer oZownime SUS d. Sofrden HOTdn 1HTIoS $8S
e DD Bsy BN SES

BETBos SBISer JobE Fchoh

(1) aSdaivcSreEsh (2) bSO e ArSsh

(3) a,cH0cindSmMsD (4) b, d OB e SSTH

SSI-GS1 s
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19, As per the World Steel Organisation, the global crude steel in 2017 was around 1,730 million
tonnes. Arrange the following countries in the descending ordér on the basis of crude steel

production in 2017.
a. United States b. Japan
c. India d. China

Dot oy (B Do 1Hs6o, 2017 & Bhod Sud asy TR 1,730 DOKS
30360 AoAos. 2017 HOoSS 155 Snd ady ad )8 egrdor fod Brodh estiirer

oo wod o8

a. eDos Hodin oaren b. 2557

c. s 4 T
Choose the comrect order : HOTDLS |EXAP0) LODE Tabod :
() abed %2 d,b,c.a
@ acbd 4 d.cba

18.  According to the WHO, ten threats to global health in 2019 include :
a. Ebolaand other high threat pathogens b. Air pollution and climate change

c. Global influenza pandemic d. Noise pollution

Choosc the comrect answer :

(1) banddonly (2) aandconly

(3) a bandconly «4) b, canddonly

1550 a8y HoP |1D5So 2019 & (DB0S e8mds fo 26 (10) erdrod’ 2od
TS 5D D ?

a. 25 HOCIN RS 08 |DITEES Tpsoen
b SO0 SN0 «DOCD FEPSOR D)
c.  2HDHA¥o J08 1HDo JdrSrd Jrjdoen

d 4y sendgo

DOTDA HAFEER) AODE Tabod _

(1) bbcin dSMesh (2) aHdaivc Sreah
(3 a bddn e dméiD (4) b, c 00k dISMaD

SSI-GS1 9
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M9 Match the following :

List -1 . List - II
a. First Woman Flight Engineer of IAF | i Gita Gopinath
b.  First Woman IPS and Indo Tibetan Border Police  ii.  G.C. Anupama
Officer to successfully reach the South Pole
(o First Female Chief Economist of IMF ili. Hina Jaiswal
iv. Apama Kumar
808 oreld 28085048
Do -1 e - 11
a. 2rds JAr0E AFYy (IAF) 3uded dawdd i e haH
=20

b. &Sfew o) Dadhldodor TOS Jwdde i, G.C. DD
Solrer IPS SHdckny mod BTeS 505 %

wHsd

c. WOSTAD |S535 A (IMF) I Hfrer il oo B
NS e TS
iv. e3¢ Sal5r8

Choose the correct answer : / O3S a;téh::i"inﬁl QoS DADOS :

a b c
(1) i i iv
{2) ii iv iii
(3) iv i i
(4) iii iv i

. 204 Match the following books with their authors’ names :
Books Authors

a. Timeless Laxman i. Ramchandra Guha
b.  We are Displaced ii. V.V.S Laxman
c. Law, Justice and Judicial Power : iii. =Mool Chand Sharma

Justice PN Bhagwati's Approach
d.  Gandhi : The Years that Changed the _jv. Malala Yousafzai

World (1914-1948)
Usha Srinivas Laxman
808 soli BTN T8 SSonde DS aé.:-ﬁ:.‘.‘ac-ﬁ
 Ssren Sdowdben

a DSBS i oeoddold e

b. Jow el ADNS . DD oE S

c. e 2y, 28NS B35 2PD DS, i,  Srd Sob 35

BEHD D eSS

d mod : & 20Hb) &6 Todh & iv. Serer chrdoDearan
JEE (1914-1948)
Gy TSN 5265

Choose the correct answer : /08300 n};’ﬂ‘m;}, ~ong Tabhod
a b c d

(1) v iv iii i
(2) ii iv v 1
(3) ii v i il
(4) v i i v

[ ssi-Gs1 10
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(31)  Read the following pairs about the Surajkund International Crafis Mela — 2019 -
a. 2019 Surajkund International Crafis Mela : 33
b.  The Theme State of 2019 Surajkund Mela : Gujarat

Choose the correct answer :
(1) Bothaandb are correct (2) DBoth a and b are not correct
{3) Only ais correct (4) Only b is correct

ArdE 5008 eodTach D) v~ 2019 55 50200800 208 e S0 |
8 2019 A6 5008 eosSgach |57 The 133 38

b. 2019 drdef Hood Hhv $B oo haoS

POEDHS DSFTTTR) QoDE SHabod

(1) adoddin bBodr HOTLSD (2) aHBcky bBodr HOTDLS TH
(3) a3 JBTJIS (4) b S HOTHSS

22. Read the following pairs :
a. 12" biennial edition of ‘International Aerospace and Defence Exhibition® was inaugurated
by : The Defence Minister (Raksha Mantri) of India
b. The IDEXADEX (Innovations for Defence Excellence) scheme was launched by : The
Prime Minister of India

Choose the comrect answer :
(1) Bothaand b are not comrect {2) Only b is correct
{3~ Bothaandb are correct (4) Only a is correct
208 a3denh &S 0h

A wodsPadd JHFDHD HOcL ADI) JDAES S 125 BiToE JALSS
Erdododdd o i 28 S50 Ko

b. &35 (iDEX/IDEX : 8% (3as 5% M&ﬁ} 2T rdododS ot :
G DerdSo|S

RO DITETETR] S0DE Tahod :

(1)  addin bBodr SO 5. (2) b INSTh HOTIO.

(3) 2B bBodr HOTDLIY. (4) adMSDH HOTIO.

23. ‘Parmanu Tech 2019" conference, which was held in February 2019 in India, was organised by

a. Ministry of External Affairs b.  Ministry of Defence

c. Ministry of Science and Technology d. Department of Atomic Energy (DAE)
Choose the correct answer :

(1) donly (2) bonly (3) aanddonly 4y~ band c only

D230 2019 S BOAS ‘Sorpdo BE 2019” HS] (SIBS) /0 D55 DSLIrOTTE ?
A DB JpSS0e oSS Ty b. SisSoBss vy

€. TR AolBE Ho BTy d. e WOES (@S IS5 T (DAE)
HBTS BArTER) SoDE Tahod

(1) darmsh (2) baMah

(3) adBcindSmessh 4) bSO c SrSh

<] _- i
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24.  Assertion (A) : ISRO launched a communicstion satellite named GSAT-31 in February 2019,

successfully.

Reason (R) : GSAT-31 will provide DTH television services, connectivity to VSATs for ATM,

stock exchange, e-governance applications etc.

Choose the correct answer :

(1)  (A)is true, but (R) is false.

(2) (A) is false, but (R) is true.

Both (A) and (R) are true, and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

PHAIEGS (A) : DOSO 2019 S° GSAT-31 DS 2.8 XariDERS ADHV) WS oD
HidSe0e5’ s Hohod.

Haadol |éiSor (DTH) 22N R0, ATM T35 mdH D28
(VSAT) © @000, &5 28008, S-drom Rrioiod a8
(GSAT) - 31 oS00,

ﬁﬂ@é TN oS Wohod :

(1) (A) QOTAA, 5V R DOTDSS s,

(2)  (A) QOTAS 57, 5 R SOTDSS.

(3) (A) 0O (R) Todr HOTDAD DO (A) K (R) DTS DeSSen E-‘ﬁémﬁ

(4) (A) DO (R) Bodr HSOTSD, s':':n (A) 50 (R) Q20T RS s*c.

oo (R) :

@ Match the following awards with recipients :
Award : Reciplent
a.  Bharat Ratna (2019) i Ismail Omar Guelleh
b.  Emst & Young Lifetime Achievement (2018) ii. Bhupen Hazarika
¢.  Gandhi Peace Prize (2018) iii. Azim Premji
d.  Padma Vibhushan (2019) iv. Yohei Sasakawa
V. Kuldeep Navar
808 DB oro& 8 |Hirde s’ 2855508 ;
DB B0/ W [fiere
2.  2rss S (2019) i 2@ro0d 08 Hh S
b. 2819 & cholfl B BS edSHhods ii. R ararOs
(2018)
c. mod 7ol 2l (2018) iii. oo |l
d. DG ISR (2019) iv. Swer A5
v. 509D a6
Choose the correct answer : / ST DIFTTR) JODE THabod :
a b e d
(M @i i v i
@ i i v v
@) i v i v
4 v iii i iv
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26. the following statements about the *PM-KISAN’ scheme :
The ‘Pradhan Mantri Kisan Samman Nidhi’ (PM-KISAN) scheme was introduced by the
government of India in its interim Budget 2019.

b.  The scheme took effect from January 1, 2019.

&~ The scheme aims at supplementing the financial needs of marginal and small farmers °
procuring various inputs to ensure proper farm income.

4~ A family comprising of husband, wife and minor children who collectively own cultivable
tand upto 2 hectares as per land records shall be provided a benefit of ¥ 6,000 per annum
per family.

C the comrect statements :

a,canddonly (2) banddomnly (3) a,bandconly (4) b, canddonky
15TH0E S HAMN A’ (PM-KISAN) JH$RE SoaodHod 308 aipiede

WEJ00 .

A ards |NEbdso 2019 e D aFSNS DHERHoB ES HIMS S 5N

S Fngod.

b. S HPE0 2358 1, 2019 Hod BHenS'E SD Y08,

c. darod HOCAIN DSOS Dédden DB SiSrdd eorairy) HroBochiy dewr
DD SESACH SErISTE DEBOBODE 88 eIHT VN Bodod aidod &
S0 slodDodadod,

d. &r 8sdPo 1Hsdo 2 FE S85 b o (dockuiom) e #H6, ard; Sdabo
DIB DROE’ BrAS 2.8 H0002rd8 J0I58 30708 & 6,000 HEIrsS0 FroHéod.

JOTWS T oD J0DE Tahod:
(1) & c0cidims (2) bABcindSmS
(3) &, bSO c IMSD (4) b, cBcn d Sr&h

@ Read the following statements about the ‘Subhash Chandra Bose Aapda Prabandhan Puraskar® :
a The Government of West Bengal instituted an annual award titled ‘Subhash Chandra Bose
Aapda Prabandhan Puraskar® with the cooperation of the Central Government.
b. All Indian citizens and organisations, who/which have excelled in areas of disaster
management are eligible for the award.

c. 8 Battalion of National Disaster Response Force (NDRF), Ghaziabad was selected for the
award for the year 2019,

Choose the correct statement/s.

(1) aandconly (2) aonly (3) aandbonly (4) bandconly

020 SOISED BHE |D0SS ETLE’ K HonodoD 800 TEMFOD BEI0A :

8. 0TR SoIAR edd P2odd DOmS S eI P Bold |1DHhes
HIFSBOS HB35 Do (DS L0 DOvYEn THoS.

b. DD S5rod Ho0H00S AdIred’ JFLBY rdd rden DO
HOPER € B IP 5 eHen.

c. AHSS Azl BS) &5 (NDRC) &8 8 &S 228rdch S, vacira S IR 2019
3 DODHISIoDE T & THE JoDHE Tk,

HOTS T IWEO)D JODE BaHod

(1)  adoochy ¢ Smesh (2) adressdh

(3) a08akn bl (4) b HoAD ¢ SMSD

13
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28. Read the following statements about the Election Commission :

a. The Prime Minister of India appointed Sunil Chandra as the Election Commissioner in
February 2019, :

b.  The appointment of Election Commissioner is made under the clause 2 of Article 324 of
the Indian Constitution. '

Ch the correct answer :

) Botha and b are correct (2) Both a and b are not correct

(3) Only a is correct (4) Only b is correct

DR EO D0RTrRE DoOLHOND S0H Trswe)dd S0

a. o 1D o@ D238 2019 & DS Soldd V8o EDASEr

£y

RCROTIAD.

b. 08 oTrergofiay 105020 324 GnE) TF 2 2080 Mo Sads daordndo
adibaod. :

DOTS T2 JODE Tabod :

(1)  aS8ckn b Bodsr HOTHSD (2) aH8d5m b Bodr HOTID

(3) adMSDH DOTHOAS (4) b A& SOTAS

@ Under which of the following Acts, a ten (10) percent economic reservation for those belonging
to economically weaker sections (EWS) of society came into force in January, 2019 7
(1) The Constitution (One Hundred and First Amendment) Act
(2) The Constitution (One Hundred and Twenty Second Amendment) Act
(3) The Constitution (One Hundred and Third Amendment) Act
(4) The Constitution (One Hundred and Second Amendment) Act
JirzoSV eQfor olrd ISTo (EWS) TodS 08 H8 (10) rdo ed
0238 s 23550 2019 &° O H40 D580 WS S B 7
(1) orargofio (2.8 Sod 2888 H38e) B&o
(2) oTeriolio (2.5 od adS Bods MHade) S&o
(3) oCrarolio (28 SO e MSdSe) So
(4) oTrzrofio (2.8 Sod Bods H38x) S&o

30. Consider the following statements about ‘Vande Bharat Express Train’ :
a. It is India’s fastest engineless train at 180 kmph speed.
b. The train is commonly called ‘Train 180°.
c. The train runs between Delhi and Varanasi.
Choose the correct statement/s :
(1) aandconly (2) conly Gj/a, band ¢ {(4) aandb only
‘S0 2rES 5 BN Bew' B HowoHod) 08 Tipierd HOKBoSo |
a. 180 8.0, Ios' SAHT & 202S B Bew ardsSiod' webjos IkSosTol.
b. & Dewdd Arordeor ‘“Bownd 150" el eotrd.
c. &30 & - TEThe X5 SADSS0S,

ROTDS T swse)e DoBE Wabod !
(1) aDdcinc S (2) cSrSd
(3) a bOWe (4)  aodin b SreEsh

[c] SSI-GS1 14
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a1. MH that softens on heating and hardens on cooling is knuwn as a thermoplastic. Which
one of the following is the example for thermoplastics 7 Te

(1) Melamine (2) Bakelite

(3} Neoprene (4) Polyvinyl chloride

38 Jdbr Ddad, SIS HgHE OGN TS ecird. 2086 TS
SR AT 207

() Deodns ' (2) HEBS

(3) DTDS @ D3585

32. Statement (A) : Silver and copper are good conductors of clectricity.
Statement (B) : Glass and rubber are insulators of electricity.
The correct answer is :
{1) (A)isnot correct but (B) iscorrect. (2) (A)and (B) are not comect.
(3)  (A) is correct but (B) is not correct. (4} (A) and (B) are correct.
D3350 (A) : Tod HBcn o &S DSor sSrsen.
PSS (B) : rey SHdcin S35 D&osS podHstew.
ROQLMS A :
(1) (A) SISO 50 SR (B) SOPSS.
(2) (A)0OCin (B) AOQHS) 5%,
(3)  (A) DOTaAD 5N (B) 2OTDHAS s,
(4)  (A) Ok (B) HOTSD.

33. The optical instrument that is used by Army personnel to see their enemies while hiding

themselves is :

(1) Stethoscope (2) Simple Microscope

(3) Compound Microscope (& Periscope

DRBOD B0 EIDHHoar IS)JOD Arderds o 58 S ;
(1) PEFD (PSS SER) (2) DOE ArEIS0R

(3) DSoding ArgIodd (4) DOHD (DOSB)

34, The principle involved in the motion of a rocket is :

(1) Law of conservation of energy {(2) Newton's first law

(3) Law of conservation of mass {(4) Law of conservation of momentum
o35 K0S’ cndnd sy ArMedo :

(1) 48 Déged ¢ DEHDAN (2) Argtach Fwndded dabadoadn

(3)  185530F V&S 5 Dchaaw (4) |S535 DS

15
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35.

3.

Superphosphate of llme wjy&h is used as a fertilizer is

(-I']/ a mixture of calcium dihydrogen phosphate and gypsum
(2) calcium dihydrogen phosphate

{3) calcium ph«csplmlﬁ
{(4) gypsum

QI T “ArD0 RN D TN e

() Db B TS ey Hdcin 200> MiFH0

2) sDALD T TS rayds

(3) s Qb arw)d
(4) 2Ijen

GET IT ON
Google Play

Which among the following is an amphoteric oxide (which behaves acidic as well as basic) 7

(1)  Aluminium oxide (A O3)

(3) Calcium oxide (CaQ)

(2) Dinitrogen pentoxide (NyOs)
(4)  Sodium oxide (Na,0)

B0 Bd520ad 58S soPeos 93_;.5 (@39 SoBcin B8 Darddn Kod) &d B

Denird 7

(1) eognoho a5 (ALO;)

(3) sQabo 3,38 (Ca0)

Match the following chemicals with its applications :

List—1 List - 11
a. Sodium benzoate i.  antacid
b. Saccharin ii. analgesic
€.  Aspirin tii. food preservative
d. Baking soda iv. artificial sweetener
800 Srardbod 8 aHTrTros BSHSSHSY ;
- arDe -1 adHer -1
a. SFOHADHSToSEhES L drodtrHS
b. AridS i, g
. eR0S i, @580 Horgre modiso
d. 8ol &G iv. E9Sd & o
The correct answer / 23006 RSTGTR0 ;
a b = d
) v i ii iii
) i iv ii i
3) i iii i iv
(4) iii iv i i

(2) SEE2S 0erE)S (Ny04)
4) RFAHO 85158 (Nay0) |

SSI-GS1

16



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A

Adda247)

GET IT ON
Google Play

38,

41,

Assertion (A) ; Oils are generally liguids at room temperature.
Reason (R) : Oils contain unsaturated fatty acids.
The correct answer is :

(L)

{A) is true. but (R) is false.

(2} _{A) is false but (R) is true.

)

BB (A) : 5D AL NS S SrFen Arordoormr |SS55rHoS arodrown.

Both (A) and (R) are true and (R) is the comect axptamhm of (A).
Both (A) and (R) are true but (R} is not the correct explanation of (A).

TS0 (R): ArTe) &9008)0 it eadrers §6) aodtrawn.
QO DATFTRO0 :

)
@)
(3)
(4)

(A) Qzad 570 (R) &3y

(A) Sa3) 57 (R) e,

(A) So8d50 (R) Bodor Desadn H8ain (A) 5 (R) 00T Dddes.
(A) Soddin (R) Bodr 22w, 50 (A) 50 (R) HOTS Daddes 57,

Which one of the following levels of carbon i:nnnmr.idc present in atmosphere (in ppm) leads 1o
instant death of human beings ?

-----

2088 B EDHA DA ?

1000 (2) 100 (3) 250 : 4) 10

Which of the following statements are correct 7

a.
b.
c.
d.

Melamine polymer is used in the manufacture of unbreakable crockery.
Enzymes are biocatalysts.

DNA fingerprinting is used for identification of criminals.

Tincture of iodine is an antiseptic.

1808 TSS HOTHS DSSen DD ?

a.
b.
C.
d.
(1)

DSKD Dorred T Sod Saird Fabards HeoS FOLED e,

QoBDen 55 &S 85 en.

DNA o8 | Dotdold Fded H8odardt oderd.

$30% 35 uD oBrhHS 0TS 2.5 airod s,

a.b.cd \(-Z}/E.I:u: (3 b,ecd 4) b,c

Identify the correct statement with respect to hypo.

i
ii.
fii.
v,

It is used in photography.
it is used as antichlor.

It is used as antiseptic.
It is used in making artificial silk.

T & Do0HOD SOSIBE, B0 T3S HOTDS FLEL O 7

i.
ii.
iii.
iv.

(1)

AHAD PE DS e

A2 w03 B Tderth

A arodd RS TS

B EYBS 1Sy SOTBS® TSErdy.

i, i, iv 2) i, i, iii (3) i, iii, iv 4 i, i, iv

SS51-GS1
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42. Read the following statements ;
a. Mendel's experiments with sweet-pea plant gave monohybrid genotype ratioof 1 : 2 : 1.
b. Changes in gene frequencies in small population is called ‘Genetic Drift’.
¢.  Transmission of traits from parent to offspring is called ‘Heredity’.
Which of the above statements is/are comect 7
(1) aonly (2) abandc (3) aandc (4) bandc
fod HiSaed SSS0b -
a 82208 BiiS DolS HTred” D Hosdm BHdrH ANyB 1:2: 1.

b, D8 oo 3a80) Do SR Srdujed ‘B DIPRS00’ wotrd,

c. 2d5%e Hod oo HofaE eofodadern) 'eddoTEs” actrd.
2 DSBS S’ DO/ID IO ?
(1) adSresd (2) 2 bddlne (3) anddwe (4) bbiwe

43.  The quality of citrus fruits is affected very much by ‘canker® disease. This disease accounts for
huge financial loss to the growers of citrus orchards. Name the micro-organism responsible for
this disease.

(1) Fungi @Y Nematode  (3) Virus (4) Bacteria
‘TOES S0 S0 D] Do TS T Ta)Sotnod. A Swen ol
SIS AHHLD S TS S© eflom i SPFER. & THE TSRS ridd 28 7

1y 3Hodo (2) AES 3) 2SN (4) zrfsasr
44.  The folding of leaves of ‘touch me not’ plant upon touch is an example of :

(1) Taectic movement (2) Circadian rhythm

{(3) MNastic movement {(4) Tropic movement

‘@858’ 8o SEPFH)IM 20T oo ($0d T8S TS anrdn 7

(1) edHsodo (2) ATFAEADS &P

(3) e@HNHoddé Sado (4) esdGS Sedo

45.  Assertion (A) : In a basket with raw mangoes kept for ripening, if one fully ripened mango is put,
all the mangoes in the basket ripe very quickly.
Resson (R) : Ethylene coming from the ripened mango induces ethylene production in raw
mangoes and accelerate their ripening.
The correct answer is :
(13  (A) is correct, but (R) is not correct.
7 (A) is not correct, but (R) is correct.
(3) Both (A)and (R) are correct and (R) is the correct explanation of (A).
(4) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
IDEIES (A) : DodSo FHo HDY IrDAscH enodd S Fimr Hosdd ¥
SrGsToDA GONE, B WHS B Saben & 0180 DHoheraw.
S5m0 (R) : O Ho8d Srndscd dod Dhde odb; IHOS ADS sahos
S a8 CHODHoDT R DE Sl & B8NS 0 ToH.
A0 QTR0 N
(1) (A) DOTHIS, &2 (R) HOTSO 5.
(2) (A SOQIAG, 57¢0 5 (R) ROQDHAG.
(3) (A) 0Ockw (R) Todr HOTAD, &AW (A) 5o (R) HOGDHS Dadea.
(4)  (A) B (R) Boh HOTAD. 572 (A) 50 (R) HATDA DaSSen s7dd.

[ $SI-GS1 18
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46.  Ligaments connect bones at the Joint and hold them in position and are made up of collagenous
fibres. The fibres are made up of :

(1) Lipid @) Cobohydrate

{3) Calcium compound (4) Protein

SiDoSen Jdwsod Hoddere (Joints) & FOD TeID KOS FdoS wothEraw.
SOckn @D FrES SoMPos' oo dotraw. & Sodkden JBS So5rd

odFTow 7 .
(1) OS5 (2) =&z
(3) shapo HHpEso 4) 188

47. It is a well known fact that mosquito bite is the causative factor for malaria. Which of the
following mosquito is responsible for malaria ? !
{-l'}/ Female anopheles mosquito {2) Female culex mosquito
(3) Male anopheles mosquito (4) Male culex mosquito
85 s 39 HBBAr SW0d 81 oSS BODS DAchHD, & 1508 2552088
Svod 26 HTodr oSards 800 ?
() ©686dH0n 8% Q) 66 ErBE &S
(3) M eSHONES (4) S B3B8y &%

48. A vaccine contains an agent that resembles a disease - causing micro-organism and is often made
from weakened or killed form of microbe or its products. Identify the scientist who discovered
vaccine for Rabies. '

(1) Jonas Salk {2) Albert Sabin
(3) Louis Pasteur {4) Edward Jenner

TS0 SON0T Ari iAo HOS sirosH IESen SON dotran. petrIRS
G5 SIS 890 BE T8 g idso D08 TS Solrd e Vil e LA T4
T8 FESD EMS) PNFS 255 2

(1) ZonooE () ey ordS
(3) eranh 5 (4) J8:58 835,858

49.  The part of the brain which co-ordinates voluntary muscle movement is called :

(1) Medulla oblongata ° (2) Hypothalamus

(3) Cerebellum «5  Cerebrum

Sodore Adho|Bé SO0 BI0TROTT T 2rmDE Ko Tk -
(1) gFdvgpo (2) ool

(3) VDo (4) VA0

[ SSI-GS1 | 19
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50. Read the following statements :
a. The lens present in human eve is concave type.
b. Far-sightedness is called hypermetropia.
<. One of the functions of ear is to maintain balance or equilibrium.
Wiich of the above statements is/are correct 7 .
(1) aandec .(Zj/a.,handn (3) azandb (4) bandc
1808 1055 en 5w :
a. S5 EolsS evol E¥o Hers s Sko.
b. & SN 2rHd DS nair wodrth.
. Addbosso Bor Hdoee PEI FRrddo T Ty X DA,

2 SSSdsinerd DE/DD Do ?
(1) abBdiwve - (2) aboddoe
(3) asudcdinb {(4) bdoiwc

51.  Which of the following statements is/are correct ?
a. In humans, red blood cells lack nucleus.
b.c People with AB group blood can donate blood to any ﬂrﬂmrgrump
eparin facilitates blood clotting,
aand ¢ _ (2) aonly
ﬂﬂq/ aand b | (4) bandc
1208 |5558SneS DE/AD Dezo ?
a. Srdaderds JE SE¥eTren Eo|Bs*R), 58 dino sy,
b. AB & 3%0 ¥DAS o 58T 58 oo Tabsto).

¢. oS 850 5 ELTRE ErSHHen0s,
(1) adodcwe (2) adredh
(3) aocmb 4) bSBAD e

52.  Baclerid are microscopic organisms. However, there is a bacteria which can be seen with naked
eye. Identify it from the following : : :
(1) Clostridium pasteurianum (2) Thiomargarita namibiensis
(3) Cornebacterium renale (4) Agrobacterium tumefaciens

2rfociren &8 ArE i Ao sand 50 K0S SrSROS riBcir 2868 a5,
O 180 ol SHod) HlSod.

(1) s HAcHo ¥ BcrasS (2) PTrESrEoer SDAHIHT
3G) o) rischsS ass 4) o E8cHD tnDHLITHS)

SSI-GS1 20
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£3. Read the following statements :

a. The tendency of poliutants like lead to concentrate as it moves from one trophic level to
the next is referred to as ‘Bicaccumulation’.

b. In marine ecosystem, the biomass of producers is less than that of primary consumers.

¢.  The flow of energy from one trophic level to next is associated with loss nfcnﬂ'gr

Which of the above statements is/are correct 7

(1) aandc (2) conly (3) aandb (4) bandc

Bod [Dadared SSS0dk :

a.  HI0 (lead) erodl senarjen eHFE)H Fenind'D o8 L% Foo Nod Sl
HHE Frand’ F6 o dEydo e Do) TeBIHOTAS @otrs.

b. 33048 (marine) 8386 SRS’ o B ordhe £ 555077 15D DT Horthe

A3 1555077 ot S80S,

c. 8 DL gron Qod Sorgd HLE Front 38 1DarSo 208LH M Tos 18 Saor
.3008.

D DISTOSDE/DD HOTOSD ?

(1) aoddive (2) careh (3) aociwb (4) bSbdiv e

54. Match the following names of plants with the groups to which they belong :

List-1 List- IT
(Plants) (Groups)
a. Rauvolfia i.  Medicinal plant
b. Parthenium ii. Endangered plant
c. Jatropa iii. Invasive species
d. Red sanders iv. Bio-fuel plants
1808 FnEpe DD I oS BN SD
aDeor -1 Do -1
(Fo¥ien) (2s~éloew)
a oSOy i. ZTHd=a
b. FPACHO (HOWrEO ZTew) i, @D &Sy 208
c. BED (@ED 8I0E0) i, eSom 28
d. &5 Sosd0 iv. 2435 2085 Iy
Correct Answer is : /28 OGS QTR0 :
a b c d
(1) i v i ii
2y i i v i
3) ii iii i iv
(4) ii iv T i
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55. The purpose of using an ¢lectric fuse in an electric circuit is
(1) toconvert electric energy into light energy.
(2) to reduce the electrical energy consumption in the circuit.
(3) toclose or open the electric circuit.
(_4}/ to protect the electric circuit from excess electric currents.
2.8 DB sochHod’ DS SygeT ardifo Ho O |HTrasdsn
(1)  DogE 4580 o I8 Srdo ytaso.

(2) Secbod D DOTrSD Shocherss.
(3) DB Arauesy Sor S5 5.
(4) AAISLOAITR) aHE DDLS DT o S8 ochérE.

56. When ice melts, its temperature

(1} decreases (2) first decreases and then increases
{3) remains constant \ler]/ increases
00T EEMHAS) 30 R A )8
() Siheood (2) Jods &) Saréd NS,
(3) Qdor aotnod 1) DHHHod

57.  The brightest planet among all the planets is :
& Venus (2) Satum (3) Mercury (4 Jupiter
60 SfoS T |HrisosTud |Ero
(1) DBod 2) D (3) addh 4) HoP

58. ‘Global Warming® is a contemporary environmental concem. The group of gases which
contribute to this are :
47~ Methane, Nitrogen dioxide, Ozone (2) Nitrogen dioxide, Hydrogen, Oxygen
(3) Methane, Nitrogen dioxide, Oxygen (4) Methane, Hydrogen, Nitrogen
Hri'e who @d 3008 a3 505D SoSSm HI00E & HHHS SrEHT
SOINAPE) AdAATETAAD
(1) FS, BS2S5BeE)S,. 458 (2) BS=S B B TS, elyes
(3) FS, JS'2S BG5S, 0f)zS 1) DFS, G=S, DSBS

59.  In the following s which is ferro-magnetic substance exhibiting unique behaviour ?
(1) Bismuth Iron (3) Manganese (4)  Aluminium
1808 JSorTros DOEPS HarS3n 1HE805% DE eochidryod Hord Hd 7
(1y DHE (2) wd» (3) Srofidb (4) esarONCho
60.  The shortest distance travelled by an object ina spe:mﬁed direction is ‘(?
(1) wvelocity (2) acceleration (3) displacement
2.5 DPRDS OIS’ 3805 1HATBoDS 08 a&:};& Srdo
(1)  JHSw (@) &5 (3) S8 (4) S |1ZPodsw
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61,  Match the following early Satyagraha campaigns of Gandhi \'I.I"tl.‘u_.Fl |_:_I:pi.lr problems he addressed :

List — I (Places) List — H (Problems) :

a. Durban i Tinkathia system in Indigo cultivation

b. Champaran . Racial discrimination

c. Ahmedabad iii. Peasants oppression

d. Kheda (Kaira) iv.  Mill workers strike
oS Mod 2808 §O JHErgfidr Ao 898 IHDELN) HDDIOS 2SS DI,

Do - | (rowren) 2Der - 11 (HHDdHgew)

G ~ e AL i OO Sot FihS'D SosBair HHA
b. Sodod i, el DN
c. eI i, Déve eedds
d. B EY iv. Doew soioe | RS

The comect answer is : OOTDS RDLATEIGO ;
a b [ d
(1) iv ii iii i

@ i Wi iv i
Gy i iii v
. @) i i v il

62. The Jallianwala Bagh massacre occurred in 1919 when hundreds of innocent people were killed.
In which state Jallianwala Bagh is located ?

(1) Gujarat () Kashmir (3) Rajasthan «f  Punjab
1919 203835085 2HWDS Jowrf oridos” Soderd wdrabiven Sodagh.
200HS Jrerrfi d oo 306 7
(1) thaos 2) 525 3) o=Ps - @ HozdS
63.  What was the slogan raised by Subhas Chandra Bose for his Indian National Army (LN.A.) when
it joined Japanese forces on its march against Burma and India ?
&/ Inquilab Zindabad (2) Delhi Door Hai
(3) Chodo Delhi (4) Chalo Delhi

20BcHS FASS el (2.25.0) A% 238 Diod T vovy, rdstiion oGl
205HeNT8SD I M0TR [oIGS R S5 PAOLSS FDID ATSDHEH ?

(1) =adyserd Booerd @ &dsrsr
@ sgad (@) oS ad
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64.  Assertion (A) : English language played an important role in the growth of nationalism in the
country.
Reason (R) tl'.)" Indians felt the power of English language in Wordsworth sonnets about human
li : :
The m::'tl}' answer is :
(1Y  (A)is true, but (R) is false.
(2)  (A)is false, but (R) is true.
(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).
J#r~ Both (A) and (R) are true, but (R) is not the correct explanation of (A).
DD DS (A) a‘gﬁ‘!ﬂﬁ;mﬂ DSOS eofl 275 08D DS M Srodod.
SHWO(R):  SArSHR Hidoled Hard B80S 5§ &S0 $Déeres woll 20D 1DaraRy
2SN BIETTTED.
O AIATETRIO :
(1) (A) Qz2aw, 570 (R) &)
(2)  (A) 833 5, (R) dzsadw,
(3)  (A) So8dsw (R) Sodrr Az, Sodain (R) (A) 5o SBTAS Rddes.
(4)  (A) SO8G5w (R) Dodr Azaw, R (R) 50 (A) SO DSGea 7.
65. In the administrative system of the Qutub Shahis, * -Jumla™ was an important officer. What
was his main duty 7
{1) To head the finance department (2) To supervise the Mosques
27 To look after irrigation department  (4) To supervise the religious officers
S0éES SXEre HBTOT DErHoS “QB-2rAr T 2.8 (D6 9058, @S 1HGTS s OO 7
(1) @08 rgroHIS .
2) Sh&oH $2H Fotwe.
(3) AEHG0 DRy HEgSSothe.
(4) HEHSTHoOD HOIDE.

66. Match the following festivals with their significance -

List - I (Festivals) List = 11 (Their Significance)
a. Muhamam L. First day of Shawal
. b. 1d-ul-Fitr i, Sacrifice of goat/sheep
¢. Id-u-Zuha ili. New Persian Year
d. Nau-roz iv. Tazia Procession

208 Soiod o8 |erdied’ ad Sainsin.
aDer - 1 (Dodiien) zDer - 1 (PrS0p )
Swardo i, IIETOSSOHE

a.

b. =& adf Hab i ZhEMBs ad Jabeso
c. a2 iii.  ar8)e Arad Hodéydo
d IS iv. =2clr &#0hoD

The correct answer is : DOTDS Hdrgrdo:
a b c d

(1y i iii iv i
(2) v i ii iii
3 i 1 iv iii

% i iv il i
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67. The Battle of Plassey made the British to attain political ascendency in India. Which of the

following were the parties to fight in the Battle of Plassey ?

A&7 Siraj-ud-Daulah and Robert Clive  (2) Tipu Sultan and Lord Wellesley

(3) Akbar and Hemu (4) Babar and Ibrahim Lodi

T il rdsBiods” D8 o0 urnlch ®OFS FRIS roabod. & dindo

B0 BODHS 50" DSBIO S0 2ON0D 7

() DoF aFo -oof 59 Q) 8 WTH - rFINN

(3) ﬂﬁz,d: - Brdw 4) madh-atroSh

68. The Railway Budget was separated from the general budget in 1924. Which one of the f-:iltﬂrwmg
committees recommended for such a separation ?

(1) Nicholson Committee (2) Robertson Committee

(3) MacLegan Committee (4) Acworth Committee

1924 JodséyB0d D5 »FS, o 2FS Hod I Fahahod. o8 IorenH
PSR TR S8 12od TS D6 ?

(1) DS EDoet (2) oralHS S

3) DEOS EDeS (4) @555 520e8

69. Which one of the following was not a part of the Government of India Act of 19197
(1) The universal franchise was introduced by the Act.
There was to be two houses of legislature at the centre.
(3) It gave more powers to the Provincial governments.
(4) It introduced Dryarchy in the Provinces. _
1919 23S 1520 53 t9&S0S5 H020H00S (508 DS DS DO HOTSO S0 ?
(1) a8 Lin iy D yodado0d.
(2) Soldos Bods Hien Mo THS 22 doradcnod,
(3) o= (PEhEr s DB eLsoTer vdoTrow.
(4) oarod S5085 15206 50 DO IL0VOD,

70. Which of the following does not apply to Tipu Sultan’s administration ?

(1) He introduced a new system of coinage.

(2) He introduced a new method of weights and measures.

(3) He introduced a new calendar.
4y~ He shifted his capital from Srirangapatam to Mysore.

& 1808 [HSBISnOS’ DO 35 e HoFrOS' HOTDIO S ?
(1) o8& TS 58 pHod PIFDB.

(2) sk TS SrHfey, Fodod DI,

(3) 8 S ioodbd 1IHIToW 0.

(1) ok &3 oarad 38oriie)o Hod Pardi S8 )%,

2
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7. What was the plough known.as during the Vedic period ?

(1) Satamana {2) Nishka
(3) Sira (4) Sita
SOE oo IO DT % ?

(1) e (2) &3
@7 b 4) S

72.  Which one of the following statements is not correct regarding Indus Valley Civilization 7
(1)  They used burnt bricks for buildings.
{2) They used iron implements.
3 Indus Valley people built big cities.
(4) They were not war lovers like the Aryans
2o S'ah THBESE HowoHod 0o |E0d DSSTroS DA HBIS s ?
(1) o PHsaroio sHHS adnien adiirhoord.
(2) T 20D HIASVERS SHTBrAoT .
(3) Do S'oh Daen 1 Storeds Do,
(4) esfge 58 o dng [Holven s,

73.  Which among the following vows was not advocated by Parsvanatha, the 23 Tirthankara 7

(1) Not to steal (Aparigraha) (2) Not to marry (Brahmacharya)
(3) Not to injure life (Ahimsa) {4) Not to lie (Satya)

& 800 e3¢ 235 A0Stk S 0D Ao TS0 2O 7

(1) ed/E> (2) @IS

(3) erol (4) &0

74. Who among the following was the Greek enginger under Kanishka to produce artistic creations 7

(1) Vanashpara {2} Eucratides

(3) Agesilaus (4) Mathara _

& 1$00 08, DD oo HoEard ¥ oD HyRodd Py (A% Ro2dD
el 7

(1) 3358 @) CERS)

(3) oo (4) Sogdd
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75.  Assertion (A): It is said that Satavahanas had lunar origin. _
Reason (R) : The Satavahanas are equated to “Saptavahana’, the Sufi’s Chariot with Seven Horses.
The correct answer is :
(1) (A) is true, but (R) is false.
@ (A) is false, but (R) is true. -
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
{4) Both (A) and (R) are true, but (R) is not the comect explanation of (A).
IDEDES (A) : TEIT e So(dSsS' &390 Fodsd ediPrabs.
S50 (R) : FSIUrDHen I DIoren BHAS Hrdugd Sdos o yolards.
DOPWacd DSFEFSO0 :
(1) (A) D250, 53 (R) S0
(2) (A) ST, (R) Dz,
(3)  (A) s0bdain (R) Dodr Dadw, S8a50 (R) (A) 50 SOTeS DSSes.
(4) (A)0Bd (R) Bods Dazdw, 50 (R) 50 (A) SOTS DS 5o,

76. Assertion (A): The Mauryas established an elaborate system of administration as Kautilya said
that the administration cannot be the work of one man, just as one wheel cannot drive a cart.

Reason (R) : Sungas, the political successors of the Mauryas did not follow such a policy.
The correct answer is :

€ (A)is true, but (R) is false.
(2) (A)is false, but (R) is true. |
(3) Both (A) and (R) are true, and (R} is the correct explanation of (A).
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
t&m (A): Felengdhd THIIEY 208 28 SEod SAIBOLY., Fhgen &id
DDENS DrPHos HOTOT PSSV DSBS,
OO (R): THgen orafch Souds o8 oraren @) HOAD %00 B,
DO DSFEFSO
(1) (A) D280, S (R) S53).
(2) (A) &) 50, (R) Qdzasn.
(3) (A) OGN (R) Bodr N2SW, SO (R) (A) 50 SOTnS DSSe.
(4)  (A)soOdin (R) Dodr Azssn SR (R) 0 (A) HOTDS DSSE s,

77.  Afier the death of which emperor of North, Satavahatnas rose to political prominence ?
(1) Chandra Gupta (2) Samudra Gupta (3) Bimbisara (4) - Asoka
ASETEH D HES8 SoderSosso TéTren cadchor 850588 7
(1) Soldid (2) R[S DA () Dod>rHmd (4) e

78.  Sacred Buddhist literature in Pali in the form of the three Pitakas is an important source for
ancient history of India. What are these Pitakas 7
(1) Vinaya, Setta, Abhidharma
(2) Mahabhashya, Samhitha, Arthasastra
(3) Lalithavistara, Divyavadana, Mahavamsa
(4) Dipavamsa, Mahavamsa, Jataka
ErESTE 1S SO P S’ HAS &Y TRI0H HoSD Jurdh DerEen &
(SIS BErorey. & Dtxgen oo 7

(1) DSSH, e, DS, @) Boderag Hotrd, edTd.
(3) ©ODE DS, BIJTES, D308, (4) BHI0F, JoIS0F, 2resE,

LS
s
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79.  Tuzuk-i-Baburi, the memories of Babur was originally written in which language 7

¥ Turkish (2) Urdu (3) Persian (4) Arabic
2l eaeh ¥ “hozrl - 2rnd” [udses D 2riad Irchadod ?
() &HD ) &% (3) DYAHS (4) oi3DE
80. Maich the following kings with the monuments they constructed :
List - I (King) List = II (Monument)
a. Akbar i Jama Masjid
b. Jahangir ii.  Rabi’a Daurani
¢. Shah Jahan iii. Agra Fort
d. Aurangzeb iv. Itimad-ud-Daula’s Tomb
1808 oraren, 5% 28008 EQared 2 Hchdw
arDar - 1 (oee*) ader - 11 (4 &0)
a. @58 i 2330 SRS
b. &:ohb ii.  &Har o
c. araiFS iii. eyrfo -
d. DSohSES iv. @B Fer H3rd

The correct answer is : DTS HArerdo:
a b .c d

() @ v i

(2y i i, v i

(3 iv i ii iii

@y i v i i
81. At which of the following places Harsha arranged Moksha Parishad 7

Kasi (2) Mathura (3) Kanauj (4) Prayaga
& 1808 DTS aredeS I8 S8 Bl HOISED HELS O En Tard 7
(n =2 (2) oS (3) E3F (4) Dol

82.  Which one of the following statements is not true of Mohammad Ghori ?
(1) Mohammad Ghori was defeated by the Rajputs in the first Battle of Tarain.
'(2) He appointed Quitub-ud-din Aibek as the Govermnor of his Indian territories,

(3) Inone of his expeditions, he attacked-Somnath temple and plundered its riches.

{4) He defeated Prithvi Raj Chauhan, the ruler of Ajmer in the second Battle of Tarain.

D0 B0, e Hoods 08 BSNS5neE DA HOTDSS .

(1) DS 2BS an@os’ o Tdrsns TradiseT LA00DE.

(2) ris8ios =dH owODS |romoi HwdS oo  ASS ST
a0 ea.

(3) ©®ED 28 SodcirssS FhrTd TFoodbswd :’:oﬂa s )68 Mt}.&-
g - A BN

()  ©&5 TBS Dydsorer TS DosS &DS dnGos LA,
83. The famous musician Tansen adomned the court of which Mughal emperor 7

(1) Jahangir (2) Shah Jahan {(3) Humayun {4) Akbar
Darie HoAd Dorjoind ES DS D Tninen BESS e ISnS” ol 7
(1) oAb (2) 23S (3) JIodociwdS 4) o505
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84. Name the Asaf Jahi Prince who in 1839 headed the Wahabi conspiracy against the British in

Hyderabad. :
(1) Mauzam Jjah {(2) Mubarez-ud-Daulah
(3) Turrabaz Khan (4) Azam Jah

1839 JoSS8od’ DUy 08 H5@0F%or D HOH TAbiSo IrodS
SO edpeTar TrRardn TGSt 7
(1) &Fzody (2) AwoadEF b Ter
(3) &orad oo (4) eszro &y
85.  Which of the following statements is pot true regarding the religious policy of Akbar 7
(1) Fanatical Islamic clerics supported his tolerant religious policy.
(2) His Hindu wives played a vital role in his religious policies.
{(3) His parents had considerable influence in shaping his religious outlook.
(4) His guardian Bairam Khan had great impact in moulding his religious views.
808 (HS5SSsned 8% o Derdadndd HooHoD 0O HOTHO 57 ?
(1) S 08 D0OD5 DTN SISTEOBS A0 o DPew frd edIrdods.
(2) &drodryrdien ddd @HIHB0DS Né DEFHSNR TR 1Derdo crnd.
(3) ©8 SOS0|Men S5 NSNS BSWHLSD rer IS5 1Harso T,
(@) ©SD Jo8Lm E5THDS Bbo IS 6S DS D330 (Hardéo TobAdR.

86, Which Mughal emperor built Buland Darwaja considered as “one of the most .perfect
architectural achievement”, to commemorate his victory in the Deccan 7
(¥~ Akbar (2) Aurangazeb
(3) Babur (4) Humayun
T SvrbErg wdios HOFFGIST D80 SroddS erod dovsz 2 Dund IES0
&5 S50 SoddimSe Daah ArSEsonmr D80T 7
() 55 (2) ZSofizdan
3) zrad : (4) SohHcine

87. The most important feature in the Ryotwari system of land revenue administration was
(1} The land rents were collected directly by the government from the ryots.
(2) The right 10 collect rent was sold in auction to the highest bidders.
(3) The land rents under this system was paid in kind and not in cash.
&)~ The rents were collected by the Zamindars on behalf of the government.
BErsd 290 Shren HP8 S0 DTS wodsn
(1) Zirn2a Bée Hod |SHZ08 550 I Saren 88,
(2) Z00 3 Sdren T b0 Foo Jreor udE Fuso ToT 508 ToBo.
(3) S 550S Zrin R O ErHod' mE oy drnod BDOT B,
(4) 2 I 1DZhe sHSOM Baboord SHren Td .

(<] i 29
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88.  Which of the following terms refer to village accountants during the reign of Alauddin Khilji ?

u./ Patwari (2) Choudhari (3) Khot (4) Mugaddam
BTHOS DY DOV S swod, & Jod DOS) TS, M B o Adod IOD
DD HOT & ?

(H  Dersd (D IS8 (3) &% @) Swego

89. Who among the following is reported to have said : “Hinduism is the soil into which India’s roots
are struck, and torn out of that, she will invincibly wither as a tree tom out from its place.” ?
(1 Annie Besant (2) Ammaram Panduranga
3y Swami Vivekananda (4) Swami Dayananda Saraswati
“IrordT Ligod rESEID Sreren Sydor rdddonaron. oD
S0 AONODD, Zrwd” Hod DEDOS2AS TEPSB SN HHD” @ 1Bod

2T oS D5 TS ? :
(1) ®=dDotn (2) e 80 FrodSol
(3) Ao DIES08 (4) rgo Sdirdods HENsS
90. Match the following novels with their authors :

List — I (Novel) List — 1 (Author)
a. Indulekha i.  Devaki Nandan Khatri
b. Godan ii. Rokeya Hossein
¢. Chandrakanta iii. Prem Chand
d. Sultana’s Dream iv. Chandu Menon
& 200 Sderd ared Scicned’ e

D - 1 (Sdo) arder - 11 (Bdond)

a. wodhdp i 58 Sodd s
b. Aord iil. Osdb 3RS
c. ©HO|L 5o iii. | o
d. Horahidoe iv. 5o oSS

The correct answer is : RO DATTNO
a b c d

1y iv i ii ii
2y iv il i ii
) I v i i
(4) i i v i
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91. Maich the following :
List-I (Iron ore mine) List-1I (States)

a. Dalli-Rajhara i.  Jharkhand

b. Rainagiri ii. Odisha

c. Noamandi fii. Chhattisgarh -

d. Gorumahisani iv.  Maharashtra
1fof oe3R B&D8Sm.
e dor - 1 (@eDD rilsy 80) arder - 11 (ovaren)
(@) &D-oerb M rgod
(b) S0 (i) 2.8
(©) FTHob - (i) SRS
(d) B otrard (iv) I
Correct answer / 0000 fIeAFGrad0

a b C d
(1y ii iv i i
2y i iv i iii
{3) iii i iv ii
(4 1 iv i it

92, wh of the following is the casternmost tributary of the Godavari river system 7

Pranahita (2) Sabari
(3) Kinnerasani (4) Indravati
1808 BS’ Forsd & S559 By o508 Srdd @) DA DO ?
(1) [ Dreodre @) 326
(3) ETJ 50 (4) =[olETFSHS

93.  Read the following statements about the definition of Urban area as per Census of India :
a. A minimum population of 5,000
b.  Atleast 65 percent of working population engaged in non-agricultural pursuits,
. A density of population of at least 400 persons per sq. km.
Which of the above statement/s is/are comrect 7

(1) ‘b’ and ‘¢’ only {2) ‘a’, ‘b’ and ‘¢’

(3) *a’and ‘b’ only ¥ ‘a’ and ‘¢’ only

SETE s BHO D560, DR (romre BuE; JSLSTOE H00080D Eod
D530 SSS08,

2. ED BTer 5,000

b. 5000 65 TS0 (FWE 2arar, SSIEhSS SososS” HATabhdo.
¢. S0 TS 400, (OB SS5 BoH

RS DI 10505 DA/DD HOTSE/HOTID.

(1) b’ SOOI ‘¢ Sresh (2) “‘a’, ‘b, LBow ‘¢’

(3) ‘a2’ SHddh ‘b’ Soessh _ (4) ‘a’ S000kw ‘¢’ IS

(<] 31
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94. Which of the following Union Tesritory has the lowest sex-ratio (2011) ?
(1) Dadra & Nagar Haveli (2} Andaman & Nicobar
{3) Daman & Diu )y~ Lakshadweep
£0d Zo|8 FOS IFromeod’ wdie) |N-HHA A8 (2011 S o Prodo
(1) oo SHochy 85 Srad (2) ®@o&HSrS by NErD
(3) oSS O Galung @) il

95. Which gng of the following pairs related to hyﬁ_mﬁm‘:jm and rivers is not comect 7
(1) Salal - Tapi (2) Tehri— Bhagirathi
(3) Dul-Hasti - Chenab (4) Jayakwadi — Godavari
1308 DS, 26 D@ olcen Sodoin ared Ty S0 HEOD JHOS 28 DA T
(1N dord - (2) SBEr-HIN5H
(3) HSHR-AdaS (4) ZAHS A - oS0

96. Find out the sequence of the major states which have the highest degree of urbanisation as per
2011 Census.

= Kerala b.  Maharashtra

c. Tamil Nadu d. Gujarat
2011 233 B5 0 1550, @808 Frons’ HHAEG &P DTN OAPe SHD FSr)
wBodokh. '
a.  S6¢ b. SO
<. SET R d. Hzoe
(1} b,dec,a (2) b,cda
3 ac.bd : (4) «¢.abd

97. 'Where is the southernmost civilian Airport located in India 7

(1) Kochi (2) Tuticorin
{3 Thiruvananthapuram (4) Port Blair
2rSSTiod eesos G oS ad) S DITaFcho DA ?
(1 89 (2) E0ge3TosS .
(3) BBHSSosndo 4) &% 2aahb .

SSI-GS1
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98. Maich the following ports with the States in which they are located :
List-1 Liat-11 i
3 (Port Location) (States)

a. Okha i Tamil Nadu
b.  Thalasseri ii. Kamataka
¢. Ennore ili. Gujarat
d  Panambur iv. Kerala

Bod AaDYS VS’ LABIHOSE T T O 2SISSw.

Do -1 Do -11
(L8383ex) (o aren)
a. &3 i, Sofaodh
b. Soyd i. Somes
c. amb iii. haod
d. DSonrd iv. 35¢
Correct answer / /08 a) DaSPLIeS0 !

a b ¢ d

(1) v iii i i

@y b @ @i v
(3 iii iv i ii
@ @i v G i

99, Consider the following rivers in India from Neorth to South and identify the correct sequence

a. Mahi b. Sabarmati

c.  Tapi d.. Luni

8080 D& risE Sweds, addo Mol Simo BH JBTMS IHH (Ehos
B0,

a. Sy b. raama

c. =0

(1) abde "(ﬂ/ iha.-::

3) bdac 4 4d,bca

100. The total road length and Right of way (ROW) of the ORR Hyderabad respectively is :

(1) 158km.and 145 m. (2) 152k.m. and 150 m.

(3) 158 k.m, and 150 m. J4) 152 k.m.and 145 m.

e L.ebeb S Jndo Fdp G5 Sooain B e 3 (ROW), S
(1) 158 820, o808 145 M. (2) 152 8.20. J08ck0 150 &,

(3) 158 8.50. So8akn 150 Do, (4) 152 8.20. SoBcw0 145 v,
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101. The Surma Valley which has reserves of mineral oil is located in :

(1) Himachal Pradesh . " (2) Maharashtra
@y~ Assam ' (4) Gujarat

WSS eond (P Bwo) Do gend) dom S'ob o oo
(1) SrsS (HS5 @) JToD

3) o0 ’ @) Hzos

102. *Marble Water Falls’ (Dhuandhar Falls) is connected with which river ?

(1) Banas &) Periyar
(3) Tapti (4) Narmada
‘Srd)d zoIréo’ oaodh rd)) e 36
(1) =D (2) HodrS
(3) &da (4) S8
103. Which of the following is NOT a foot loose industry 7
H’)/ Cement Industry (2) Cotton Textile Industry
(3) Sugar Industry (4) Iron & Steel Industry
Bod 8S° D& HeSerrel HOIXL S ? ‘
(1) Doen HHES (2) DS I e H/ES
(3) 588 HOFESD (4) 2HJw Bk doy HOFD

184. Telangana’s decadal population growth rate has been continuously declining since
Booire BBy 57 B 2r DHHSS BeD 2 STR0 Hod DSoSSomr SHér SN0 ?
(1) 19912001 @ 2001-2011
(3) 1971-81 (4) 1981-91

105. If the time at Greenwich (0°) is 8.15 am, what is the local time at 45° East longitude ?
S 25 (0°) S HAOO ASADO 8.15 eonHED, 45° Srdd) BFToIoD) FE HIAho

Oeh ey ?
(1) 1l.15am (2) - 11.00 pm
(3) 11.00am (49 11.30am

106. The Topographical maps of India is published by :
WSS TE S TES JriD 1 (Db Dop
(1) NATMO ( GSI
(3) NCERT (4 sol
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107. Kanha National Park belongs to the bio-geographical areas of ik

Tropical Rain Forest (2) Tropical Thom Forest
(3) Tropical Evergreen Forest (4) - Tropical Dry deciduous forest
5, BasS 38y 2 HTATATrTDES 1Sromrs Ho2OHODHE T
(1) echHS STaré eadayen (2) wchd Swod wdyen
(3) @dhd Hées rdHS edayen (4) S by ehod) edlden
108. The Teak grows abundantly in the areas of
(1) Western ghats {3 Assam, Meghalaya
(3) The western Himalayas (4) Central India
B SpFren dDFSomr DO Promren S
(1) HPH EdoSwen (2) &30, Daroch
(3) DTD FArediTen (4) ‘i*nﬂ{_e.}tﬁ‘ =obdir
109. Which of the following is contiguous to Tadoba Andheri Tiger reserve 7
(1) Kawal (2) Mannanur
(3) Amrabad ' (4) Kinnerasani
1206 TS D6 S8z esoT0 Wil Dath %1 S5 SNITV X0 ?
(1 &3S (2) SHdyArd
(3) esSrerd (4) EJE6
110. Total Fertility Rate (TFR) is highest in the states of :
(1) Maharashtra, Gujarat (2) Madhya Pradesh, Rajasthan.
(3) Karnataka, Tamilnadu {4 AP, Telangana
Budo HomrdE 18 Ben (TFR) oSiH5om &) TMareD
(1) o, haocs (2) HDESHDNTIT, CBP'S
(3) Somsd Sudardo (4) ©oBHTY, Svorre

111. India’s top three import items (value) during the financial year 2017 :
(1} Petroleum Products, Electronics, Gems & Jewellery
@r" Gems & Jewellary, Petroleum Products, Machinery
(3) Petroleum Products, Gems & Jewellery, Electronics
(4) Petroleum Products, Chemicals, Electronics
rdsio, 2017 @0 HoSdSodS ASHDE TWEH) Srde WS Otbdden
(DenSsh
(1) SOCHO Aredyden, JO|FTRE), Sy en DO eideren.
(2) Smryen SHBckn eddaren, DSOCHo dre e, WndSd.
(3) S Ocho adyien, S8 e HOAN BT, JOFIS).
(4) ASOCHo Arédyoen, Scharen, JOFTRE) .

[c] SSI-GSI1 A -
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112. Which of the following location is significant for renewable energy generation in India 7

(1) Muppandal @) Nellore

(3) Velankanni , (4) Guna.

1208 S 26 204drS’ e s 88 SwaiW 1PTHo
(1) swayodd (2) BTerd

3) Seooidy (4) o

113. ‘*Hangul’ is a critically endangered species found mainly in the State of

(1) Arunachal Pradesh (2) Jammu & Kashmir
(3) Kerala ¥ Tamil Nadu
wdiod |(DIrdEdor ©08800FFD J6PMosS ady ‘Tohd® oF zody
IHeradorr ©iiidaby oo
(1) olerdS |HEY (2) 22307 Soochn N0
(3) So¢ (4) S¥Tw
114. Ramgarh, Hutar and North Karanpura related to coal mines are located in the state of
(1) Odisha {2) Bihar
(3) Jharkhand (4) Chhattisgarh
8 S5 JoodHod TS, el Hockn asd K55S o oo
(1) 242 2y HHE
(3) =608 @) SBHNE

115. The number of states at present which fall in mei:;n:hmmt area of Godavari river
S0 Fardd SO B, HOTTS |Srosod e o are Do ok ?

(1) 8 .(e)’/ 7 (3) 4 4 5
116. Arrange the following iron-ores in descending order of their metal content :

a. Magnetite b.  Limonite

c. Haematite d. Siderite

208 Hf.S) 2H TréJod I8 ofod piz JorFR) ¢ wdfoe L-;-:am-ﬁ‘

95380 Jadw.

a.  SrriyRds b. OJrz&h

c. ersutadl d. &3S

Select the correct answer /fOQDS DATERO : '

(1) abed (2) d.achb

(3) acb,d W cabd

SSI-GS1 | 36
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117. Arrange the following areas of India, in the sequence of lower to higher rainfall.
a.  Eastern U.P. b. GangaDelta
c.  Westemn U.P. d.  Sahyadri
(1) Sahyadri, Ganga Delta, Eastern U.P., Western U.P.
(2) Western U.P., Eastern U.P., Ganga Delta, Sahyadri
(3) Ganga Delta, Eastern U.P., Westem U _P., Sahyadri
(4) Eastern U.P., Ganga Delta, Sahyadri, Western U.P.
BoB BES) rESTE romed’ 88y IS0 Hod w68 IPTso vosdod

|Iromred S |FSod’ hlopsn.
8  &Erd)ass |HBT b. Hor @Y
. 2% add HET d. 2GS

(1) DS, for By, Srd) aSSHTT, DT add(HET.
(2) DT SSNOTT, Srdd) SSSHTE, KorBy, DO,
(3) Mo B¢, Srd) aSSHTT, 53D ASSDHES, JSS.
(4) rdh) aBSNEE, Sorr T, HI%E, HVDH GSSHTT.

118. Which of the following statement/s is/are correct 7
a. Kamuthi is one of the largest solar power projects located in Tamil Nadu.
b. In India, geothermal power plants are located in Manikaran in Uttarakhand and Puga

Valley in Ladakh.

(1) Both'a' &'D’ (2) MNeither‘a’ nor ‘b’
(3) ‘a’ only . (4) b’ only

1808 |HELSOS HOTDIO O/RAD 7

8. SETH o RS S ES0d® &6 D@ o100 a3 DG S |rafod’ il
b, rdadEiod 2TresS DS IS Fotven ASopoll SR HJASSHE oL

oAES'D S S'ahH 3 FHoBSDASD.
(1) ‘a’ Sndckw ‘b’ Bodr Sror (2) ‘a’ ocin ‘b’ Dodr )
(3) ‘a2’ S (4) ‘b’ Sreh

119. The number of Urban agglomerations in India with a population of one million or more as of
2011 census are :

riadios 2011 a2y 350 19560 56 ofe aTyr o0 S do e

R0 Cirey DOoY
(1) 53 2y 61 (3) 35 4) 51
120. Which one of the following Nuclear power station has the highest capacity in India at present ?
(1) Kaiga 5 . Kakrapara
(3) Tarapur (4) Kudankulam
208 BES) rodabfios ) omddd Solmred DVE0 @808 e
oo e Boo 28 ?
(1 3mr (2) s3E>rd
(3) =o3h (4) Sodofovo

SSI-GS1 37
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121. Match the following

List —1 List — 11 S
(Scheme) (Objective)

a. Pradhan Mantri Kaushal Vikas i  Providing requisite skills to poor for
Yojana (PMEVY) managing their institutions.

b. Prime Minister’'s Rozgar Yojana ii. To encourage skill development for
(PMRY) youth by providing monetary rewards.

c. Deen Dayal Upadhyaya — Grameen iii. To convert India’s demographic
Kaushalya Yojana (DDGKY) surplus into a demographic dividend.

d. Aajeevika iv. To provide self — employment to more
than a million educated unemployed
youth.

2 DS :

Do -1 - e -1l
(SHPESw) (©s0)
2. PrSHoEs NS D dras . DET08 T8 HoYe DG LSTEE
{(PMKVY) ©50550m0 FaeTrioc $8j0hd.
b. DerSSol b STrad i S8 aivSsen £D 0 oot
(PMRY) cinSeeS” Fae iS00
&S yerocods.
c. OHS Saird adrorioh (raodS il rSSTHE 2y ihend, 2T
FTHog Tras (DDGKY) S2Tolm Ardo .
d  eslDE _ iv. 28 0DANHS L ownisS S
Gl 350 ADLcho S Ko yad.
The correct answer is : /OB DSl Mlodod :
a b c d

(1y ir iv iii i

(2) iii i iv i

G3) i i iii v

A v i i i

SS51-GS1. o
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122. Which of the following statements is/are correct 7

a. India's foreign exchange reserves declined from $7 billion dollars in 1979-80 to just 3600
million dollars in January 1991.

b. In 1979-80, India’s foreign debt was $18 billion dollars and by Margh, 1991 it had risen to
$90 billion dollars,

The correct answer is :

{1) bonly s comect. {2) Both a and b are not correct.
(3) Bothaand b are correct. {4) aonly is correct.

1808 Frspied’ DO/OD DTS 7

a. &S 1DHS5H DT SroE Aoen 1979-80 S 7 ﬂﬂ:ﬁ:.S ol oD 23558,
1991 =438 600 OAARS orodsy HASATrow.

b. 1979-80 &' 2r S8 54 BT o 18 HOAHAS arexdh) yodmr 1991 Trels 90 DESHS

o Tood.
HBS HAFGSO :
(1) b ST HDSA. (2) asdcin b HBSD s,
(3)  adobBo% bBodr HBSD. (4) aareesh HDSE.

123. With which of the following programmes, it is intended to increase the production of rice, wheat
and pulses by 10, 8 and 2 million tonnes respectively by the end of Eleventh Plan ?

(1) Mational Food Security Mission JZJ}‘/ National Mission for Sustainable Agriculture
(3) Bharat Nirman Programme (4) Pradhan Mantri Kisan Sinchayi Yojana

HETOBS DTS BomdE 38, HdH HOGD HH) T SIS S/ 10, §
H005D 2 WETHS L31O DEDSE ABDE AFToDAS HEHKo DB ?

(1) 2 Ba% esd®S Hed WAS (2) FHES WAL HO IRTS BF0 5
3) 288 domes HH¥o @)  IDHFTRoS S Looron Jrad

-

124. Which of the following services cannot be availed using Aadhaar Enabled Payment System
(AEPS) through the micro-ATMs with Business Correspondents ?

(-H"/ Demand Draft (2) Funds Transfer
(B3 Cash Withdrawal (4) Cash Deposit

DATR 55308065 35 &Sy DF* - ATM o orso- erbd anis 8o Aevdo
(AEPS) & SHE3IM0D) AHS 8DDS Diod' BAD 2ATrAochersd Den s 7

1) AsSros oD 2) e 260
B) SKS addoTSE (@) S 2%

[ss1-Gs1] 30
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125. Read the following statements :
a. The Hamflgampla Survey Office (NSSO) is responsible for conduct of large scale
sample surveys.
b. The Twenty Point Programme (TPP) initiated in 1975 was restructured in the year 1982,
1986 and 2006.
c. The NSSO functions with autonomy under overall guidance and supervision of National
Statistical Commission (NSC).

The correct answer is :

(1) aand c only are correct. (2) a, band c are comect.
(3) nmdbun]}rmmrrﬂc;t. (4) b and c only are correct.
5ol e BES00 :

2, DRSS oS HT 0% TASS oS 185 b (NSSO) 200,

b. 1975 S IHAFH0DS 20 oo HPHEo, 1982, 1986 SoOALD 2006 S HIBCSHBIA.

c. Sold fHerosme 213 (National Statistical Commission) S8y srOaron Srdssso
Hocin I5ILns JHIS rodS 05 eHH Jschopdias o

QS gerotiod.
HBS DITEIBO : |
(1) 2500w ¢ SrSh HBSD. () 2 bSO ¢ HBID.
(3)  aSoBdin blArash DDA, {4} b SHBC) ¢ SMSSTH OB,

126. Capital issues consist of two parts — shares md debentures. Read the following statements in this
context :

a. All shareholders do not have any ownership of the company.

b. All shares gul Flﬂl‘ﬂ)’ loans which carry fixed interest rate and are non-convertible,
<. All debenture holders do not have any share in the ownership of the company.

d.  All debentures are merely loans which carry fixed interest rate.

Which of the above statements is/are NOT correct ?

(1) aandconly (2) aandb only

(3) canddonly (4) b,canddoniy’

IS 2068’ Bodh armen ©3m éren, ABoSBen aotran. H8 Honodod
180 Tt ﬁﬁaém

8, SEFTHOOSET F0DAS Jerodd airaSr) SO GO,

b. FEred)chr 5500 Sr8 )0 Tahndis Den 59 Sere nosS’ aod HS IHD Bﬂa’m
c. ABoBBODN FONS FB0SG Fo DO AIFBIrI0S Jerotd Fer SO0 God s,

d. ABoBSochn S50 Hare Ernod’ @0l HEDS 362 edJow.

2 TSS DA/ HDOTIO 570 7
(1) aSoBckD ¢ Sressh (2) aHdcho b arsh
(3) ¢SO dSMEH (4) b, c 00D d SrS$

SSI-GS1 | o
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127. Match the following :

Pk

List -1 ‘ List — 11
(Economic Policy) {Aim)
a. The new Indian Bankruptcy Code i. Improvingthe performance of Public
(IBC) | Sector Banks =
b. A large recapitalization package ii. To help corporates to clean up their
balance sheets and reduce their
debts.
¢. Demonetisation and GST iti. To strengthen the balance sheets of
Public Sector Banks.
d. Indradhanush iv. A noteworthy increase in the number
of tax filers.
2855 %0aw ;
wrder -1 aDer - 11
(885 Dgrso) | (o@o)
a rOBCLATSS ATV S i (D2H& 8ol oo HASH S
(IBC) DS ESS.
b. &=DOPEad s ii. 5,88 Jopoih o8 e eHo
HPES' DParen, Smrod ShHsob
Nars 0.
c OIrTDLELS S0ckn S . (HZoésSol  orjoRe el ey
DI DY P a8 beso Bavdo.
d. 20l S50 iv. Han JQoHhorthe Dok
: HERRGALTS DG,
The correct answer is : / QB Hdrgara) 0000 :
a b c d
(1) i i iv i
2 i it iv iii
(3) i v i il
4) i ii i iv
128. Which of the following industries is/are NOT an agro-based industry 7
a. Textile Industry b.  Sugar Industry
c. Paper Indusiry d. Automobile Industry
The correct answer is ; '
(1) donly (2) conly
(3) . Both a and b only (& Both c and d oaly
&S BODS HOFNOS' DO/ JsSArTOS HOYH T ?
a. SN DOFED b,  Dodord HOFS
c. aHbIHoER d eS8 TaS HdED
DR MO0
() damessd (2) cdred
(3) asdciny b A& (4) ¢ OcdSMSD

(c] [ssi-Gs1 a
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129. The Reserve Bank of India set-up a Committee headed by ¥Y.H. Malegam to study and advise on :
{1}  Self Help Groups and Banking Linkages
{2} Micro Finance Sector
(3} Pradhan Mantri Jan Dhan Yojana.
@ Jan Dhan, Aadhaar and Mobile.
B BODS ¢3S TBD MHBoD wPicHdo Tl Hrdden RIS, 2SS Oaby
2r;0d0 Y.H. SrBro e9d8 8% 2.8 3040 Dabhodos 7
(1)  H5CLo RTFCLE wYooren - 2o edhaoGe.
(2) ArEIHss8 Sofio.
(3)  1DER00E 235 &5 Tirad.
4) =385 erhb T

130. Which of the following studies stated that, 53.3 per ceat of India’s population i.e., (64.2 crore
people) are suffering from multidimensional poverty 7
(1) Tendulkar Committee Report - 2009 (2) Rangarajan Committee Report - 2014
(3}  Planning Commissicn Report - 1998 (4) Human Development Report - 2016
erSEE adrerd” 533 TS0 (642 F& Dod) adutdrd DHSOEo (multidimensional '
poverty) & 2rHcua S &5 oS D @dicbd0 BOAHHBDS ?
(1) Bodkrod 50 3JH5-2009  (2) SodoraS 208 D368 - 2014
(3) |1HPs Dodwo DFOE - 1998 (4)  0ded DR VAOE - 2016

131. Which one of the following industries is not exempted from the compulsory licencing 7

(1)  Glass Industry (2) Paper Industry

(3} Paint and Allied Products {4y~ Cigarette Industry

S0SBDDS JBFHOS" D HOHEI DIVH0 B 00 oD WdSfonodndTide 7
(1) TR/ree HOHES (2) shHS HOBFXR

(3) Dowodd Sbcin eodziodd Hrshen (4) D JoED
132. Assertion (A) : SAMADHAN scheme is meant for one time settlement of dues of small scale sick
industrial units.
Reason (R) : Sick units are required 1o make one time payment including interest not more than
double of the loan amount.

Choose the comect answer :

(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the correct explanation of (A).

(4)  Both (A) and (R) are true, but (R) is not correct explanation of (A). :

IDBIGS  (A) : TOFTNE HNSH DS DIy ST JOFTDE AT
DTred/asronedy JF [wdor H8500che% JHoodHoDIS
SAMADHAN D50, '

TR0 (R): o LN aR SEcnd H0EHen o Hmod edendrtn
3@ Bododedh oddoa uivrs IDood.

RO AArTTR) H0odSod

(1] (A) R8I, (R) B smd.

(2) (A)RBSS 5, (R) 2BSE.

(3)  (A) 080D (R) Dodior Srar DA, S8dhw (R), (A) %0 HOTDLA DS5des.

(4)  (A) 08w (R) Dodior Sure DAY, @awd (R), (A) o QO Jadee sC.

[c] [SSi-GS1 2
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133. The President of India doesn’t have which one of the following veto powers 7
(1) _ Suspensive veto (2) Pocket veto
Absolute veto (4) Qualified veto
1Bo8 S 258 o DHDE B DS HTUID DA 7
(1) =&05 danddo DS @ Fwds' o
(3) AL S edsoa (4) odsSod 5rdd DS vosdsn

134, During which Lok Sabha’s tenure the tradition of giving the post of Deputy Speaker to the
nominee of opposition began ?

(1)  11® Lok Sabha 12® Lok Sabha (3) 9™ Lok Sabha (4) 10* Lok Sabha
SOJFHE JDOI 1HADE @ o188 3T JoPorabhin, BoSTIO (8o BHIS D
S'EHS o0 ?

() 1SISEDS (2) 123SBIF (3) 9.&6‘5@ 4) 105 S8HP

135. Which one of the following statements is true with regard to the office of the Govemnor 7
(1) It is subordinate to the Union Government.
(2) Govemnor's salary is fixed by Union Home Minister.
(3) The constitution under Article 157 prescribes only two qualifications.
(4) It is an employment under the Government of India.
5830 HAEDE Jowohod) Lo0d BSOS I6TIS
(1) Zold H2bé s ad il goduod.
(2) 85835 Aiw Sod U e Sool8 ddowociod,
() CTEpoiind'd 1578 ©O55m0 KS535 HEDE FdoSw Bod edsSod
ATLIOCOMA.
(4) SolS 1HZhe sw 1805 2O .8 AT i3n.

136. Which one of following type of legislation can be made without the prior sanction or
recommendation of the President 7

(1) A bill which varies the definition of Agricultural income.

{2) A bill which affects the freedom of trade of commerce with other countries.

(3)  Alteration of boundaries of an existing state.

@)~ A bill which is money bill.
lgoaamé‘hwa@mammammmaﬁmm;m
TSt 30 7

(1) S5SoSH eordd DS sS0anS Srdh) 8Ty Doy,

2) addBrod 368 adeibdned 1Hardssn FTho.

(3)  OlASDL EEFAS) HOIFEVOND SIS IS,

(4) e Depr Devsad Dey. -

SSI-GS1 ' 43
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137. Consider the following statements with regard to the State Leglslahme
"i"'J An ordinary bill can originate in any of the Houses.
Legislative Council can delay ordinary bill only for a period of three months in the first instance.
iii, Legislative Council in the second instance can hold un:lmar}r bill for ﬁ'ﬁﬂn days
iv. Legislative Council can only delay a money bill for twenty days. &
Ol T THE0 Ho20H0D 2o0d 1HELSeS HeMlo .
L s D 2 HPS T (DB DS 6.
i, TSSO T0S 008D Frrde D Stk Soe SE%5 sodH s Dby, ©
iil. BodSArd %S Snodd) Arorde Dend HHTTN Fere SS55 eserd pdn Db .
iv. 0S8 08D s D BOE Fered SO5 e ﬁd&:@&i&:,ﬁ:
Choose the comect answer among the following :
1208 areles HOTS Barznd Ardoydn
GF7 Qi iv ¢ (2) i&id (3) i, ii & iii 4) i, ii, iv
138. Choose the correct statemeats from the following :
i.  Lord Morley was Secretary of State for India in British Government.
ii.  Lord Minto was Governor General of India. -
iii. Lord Morley was Governor General of India.
iv.  Lord Minto was secretary of state for India in British Gml:mmem
1208 FOS" HATDS HELSen DD ?
i. el Trd 10850 1008508 ardd oras D%,
it. erl Mol oS 65515 BSOS ey .
iii.  erl 3B, arddd 55835 23588m a1 &,
iv. erd o D30 15208 3085 ardd orag HDS .

(1) i&ii ) iii & iv (3) i&iv Wy i & iv
139. 'Which one of the following was not a part of Reserved subjects in the Govt. of India Act of 1919 7
(1) Land Revenue @< Administration of Justice
7" Local Self Government (4) Police
1919 233756 (22068 5 &30S’ 82386355 wodlned' B Dachan 08 2
(1) 2o I : (2) &g red

(3)  FOE J5HOIS HZDES $30 4) 2H™

140. Which Amendment of Indian constitution implicitly says that fundamental rights are amendable
under the procedure laid down in Article 368 7
(1) 29™ A2y 42 (3) 2s5* (4) 24
D orargod D380 whHES0dn 368 S oINS DISor DrAWE e
ABB0TIHTD IRV ASST/HETE O TS T
(1) 2938 (2) 42358 (3) 2538 4) 243568

[C] SSI-GS1 ' 44
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141. Who among the follomng is authorized to decide the applmabuhty of any Particular Act of
Parliament to a Scheduled Area 7

Union Tribal Affairs Minster (2) Prime Minister
(3) President (4) Governor
1808 0S5 JS08 2.8 1H858 FTFodS SIS AT (rome S0Noor Bor e
Dot eOSSE Lo ?
(1) ZBo& hdad mp JidToe Ty SHos
(2) PordSod
(3) orda
(4) ' 85835
142. Maich the following :
List—I (Committee) List—I (Recommendation)
a. Balwant Rai Mehta 1. Zilla Parishad should be executive body
b Ashok Mehta il. Myava Panchavats
G. K. Santhanam iii. Zilla Parishad should be advisory body
d. L.M. Singhvi iv.  Panchayati Raj Finance Corporation
2SI ECT0SD
arDer-1 (EDe) Do (ISR
8. DOIOSCCH DS Q. B HOAM SEIDELTE HOPH
b. 35 Jodre ii. mioh Docronsien
c. B oomso iil. 2 J0HH HOT JoY
d IS5 Hodos iv. Soomrond o Dovs) sE0AS

The correct answer is : OGS DSredo
a b c d

JH i i v i
(2) i iii v i
3 i 1 v ii
(4) i1 ii i v
143. Which constitutional amendment conferred constitutional status on the Mational Commission for
Bac d classes 7
ﬂz-ﬂ (2) 103" © o (3) loo0® (4) 101%®
Bobd I3 O orarjof JS8e |HS S0 zz‘écib Soiadd SoHde NSk oergol
ooy 50 7
(1) 1025 (2) 1035 (3 1005 (4) 1015
144. Which Article of Indian constitution provides for making any special provision for women and
children ?

oo’ D ofibnsn HFoH HocH oo (HEE  SOHSHow
50020850 Soenarty N0 7

(1) 152 2) 15(1) 3y 15(3) @ 15(4)
[C] , _ SSi-Gst | as
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145. Which of the following. isfare the objective(s) of Ministry of Skill Development and
Entreprencurship (MSDE) ?
a. To fulfil the vision of Skill India Programme
b.  To maintain supply-side skilled labour force statistics
c. To fill the gap between demand and supply of skilled manpower
The correct answer is :
(1) b andc only are correct. (2) aand c only are correct.
a, b and ¢ are correct. (4) aand b only are correct.
508 TS’ DO/AD THeog DIHE DB SiSFHES Hoo|BS 7 (Ministry of Skill
Development and Entrepreneurship (MSDE) &8 so/eo5en 7
8. Skill India HHED oG NES (vision) < 330 Taiwdy.
b. ARdD BHS95 So20H00 BHgotio 1TanE 48 farosed A aroche.
¢  Beo fe | 38 Adrof-ORdhe Hdi ol ewods o) iFrdoih.

HBS HArerao

(1) b OdincamMead HBID (2) a0ciwe SIMSH HBID

(3) 2, bSO ¢ HDAD (4) aS8cln b Srehah HBAD
146. In the Constituent Assembly, the *Objectives Resolution’ was passed on :

(1) 24™ January, 1947 (2) 25% January, 1947

(3) 26® January, 1947 (4) 22" January, 1947

‘AR SN BOPSIN’ ool SHHBS" It BBrEoHDAIS ?

(1) 2423558, 1947 (2) 2523550, 1947

(3) 262358, 1947 (4) 22 2550, 1947

147. Which of these two following Vice Presidents acted as officiating Presidents of India 7
(1) K.R.Namayanan & Krishna Kant  (2) B.D.Jaui & R. Venkatraman
A3 S. Radhakrishnan & V.V, Giri (4) V.V.Giri & B.D. Jatti
1B08 BS' D 2ESH AH - RDBen B 8 O RDSIENT SFSTFoDTE ?
(1) Bebsodoad & Hysos 2) 9.4 28 & ald JoseoHS
(3) IN.oTEHRd £2.0.00 4 DDABXEDH. =8

148. Which one of the following statement is cotrect with regard to parliamentary committces 7
(1) The members of the Estimates Committees are elected by Lok Shabha.
{(2) Public Accounts Committee consists of 30 members.
(3) Committee on Empowerment of women is a departmentally related committee.
(4) Committee on Home affairs is a Joint Parliamentary Committee.
rIDoed st 5020800 808 TS HOTS 1HFLHS DA ?
(1)  ®odare 52088 Hibhserd SEHY JZpjen I8 TTSSD.
(2) 1Dz Do s Dbz Hopg SwB).
(3) Y Hsdd, X0 Der Howodé Frodoll Saues.
@) el T Ssdforo £0oed, Socing Ooerd Enes.
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149. From among the following, which Committee’s rmnmsndath}m were -accepted by RBI to
switch to consumer prices from wholesale prices in setting its inflation target and making
monetary policy 7

(1) Y.V.Reddy Committes (2) Bimal Jalan Commiitee
_(31/ Raghuram Rajan Commitiee {4) Unit Patel Committee

125855 DS & BeodSt |18ty o8 (inflation target) ATFRE &% HSe (wholesale
prices) ardos DOTri S Sden SHTTrhoTed & (Sod adS O Endd IS

Sardands RBI scliZbodod ?
(1) 2.0.8% soed (2) DS zerd §doed
(3 Soooro ored Dol (4) »0&E HHdS el

150. Assertion (A) : Workers — population ratio in India is low in contrast to that in developed
couniries.

Reason (R) : Rapid growth of population, low female worker population rate and omission of
unpaid family workers lead to low worker-population ratio.

Choose the correct answer ;

(1)  (A)is true, but (R) is false.

(2}  (A) is false, but (R) is true.

(3) Both (A) and (R) are true, but (R} is not a mrrmtexplmﬁﬁn of (A).
(87" Both (A) and (R) are true, and (R) is the comrect explanation of (A).

BDAPSS (A) : ©D330 Tobd Bros O 135% erésdios” (@oden — amrer
QA eBoy e,

TS0 (R) : 2a2rsS S0ads S0, SarerdS Hirer e By S5i3dm Soddo,
33 TO0H SO Hyrdol T Mo DSt SFEIFSG0 S0,
I So%oen — 2y A0 )8S" SHS0& Srdochdo.

JBToS HITGFERY, oo :

(1) (A)IBIB, ST (R) HBSS 5.

(2)  (A) DBIS s, s (R) IBIA.

(3)  (A) 2B (R) BOLF Srae HBSD, 22 (R), (A) $0 JOTES DI6 .
@)  (A) DO (R) BOdr Srar HBHD, S0 (R), (A) £ S0 DSdes.
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151, The important geographiesltivisions in India are

(1) Himalayas and Deserts
27 29 States only

(3) Himalayas, GangesSindhu River Plain, Coastal Areas, Peninsular Plateau, Deseris and Istands.
(4) Forests, Rivers, Mountains am!: Sea coasts

ST oS (DS TS Dearcden

(1) SrSredirey SHACD Jardhen

(2) 29 OMFren Ariehad

() DSrecires, Kor-ROETIS D0, Aghie) Sy, HEos Bowrey,
S8 Froso JSdain Abex.

(@)  ethden, Htvewn, HSsEren OGN HIVSBoeD.

‘152.  'Which of the following is the key factor in social studies 7*
17 Forests (2) Technical problems
(3) Development in Medical Sciences (4) Population
ArotnE Fod orer $0iRS woido Sod IS DO 7

(1) edHen (2) DoiaE HSodgen
(3) B TS ©DSYQ @) =z
153. The formation of separate Telangana state was the result of Telangana people’s long fight to get the
following : '
,_L.PI/ Water, Resources, Jobs (2) Education, Employment, Independence

(3} Respect, Huge Wealth, Influence (4) Resecrvations, Jobs, Bank loans _

& 808 o8S HIY Fodhe TSR Boorsr Haen FS DA dMoere Hdsor
&% Boors O 1S J5)858 ?

(1) D&, Déew, Hairsew. (2) D&g, Ard, rsSo|ghsiw.

(3) MB350, IS Do, DenSond. (4) 8285, aSimen, 2rjoss S5,

154. The main reason for “Globalization™ is
(1} Gap between the rich and the poor  (2) Political parties
{3) Message-oriented films ,H‘)/’ Fast growing technological knowledge
MDDODESE |HEAD” B0 (DS S EeSw !
(1)  &SR% e Hodin ST 08 s &by soedo
@ oz8cdHrfen
(3) Hobiwed)E vddren
(4) Jsor edIHE Totdd) JrotHE HaFDo
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155. What is the name of the system, developed by Richard Bandler and John Grinder, that seeks to

educate people in self-awareness and effective communication, and to chenge their patterns of

mental and emotional behaviour 7
{1} The power of positive thinking (2) Stress-reduction programme
(3} Perspectives on personality {4) Neurc-Linguistic programming

B0 ®8SMErS HOA HHISoSTd 2rd DO THo, SFShE OB 21T s
PSGm HEttos' 0TS oIrTIsH Hued EDjomd §ho’ 8ol wrjebob
SHBC5) 275 NodS DOSFoAO0DHS VP Ty, DD Daned 7
(1) Ardobre et 48 (2) SBAR SNoT &80
(3) 338685350 ToEy STy eren @) S Dongys 1orlioi

156. Read the following statements :
a Adults cannot develop emotional intelligence.
b.  Emotional intelligence can be learnt and developed.
¢.  Adolescents cannot acquire emotional intelligence.
d. Emotional intelligence is broader than [Q.
Which of the above statements are correct 7
(1) aandc (2) candd (3) aandb (4) bhandd
S 808 i SSSoh -
a. STradoen ST LN 193 (ORFASS 2083OZRH5)T) & DofrodothE B,
b,  2rS'E N 1M o dsth) Dorodochs Sy
e. ST 10T cing Scbinjen ardHodS.
d. 0.80; S ar ST 158 w08 DS,
28 @D Fiwios’ ID HOTPSD ?
(1) ab8cdive (2) cabacind (3) abdiwb (4) boddind

157. *“An average level of Intelligence Quotient (IQ) and high level of Emotional Intelligence is a
formula for personal success”. Who proposed this ?
(1) WilliamBell (2) Thurston (3) Peter James (4) Daniel Goleman

“2.8 558 Dacirds 1HF ©f (1IQ) Hiew (re-der) FraneS, ST N 193 T (@S 8)

Frond’ ooranl ArErdy” Erdoier) 285 1HarSotrdo 7
() Do BS (2) &BAS
3) habES) 4) Boohds FfdsrS
158. Read the following statements : .
(a) The ability to recognize one’s own feelings and those of others.
(b)  The inability to understand abstract concepts.
(¢) The ability to understand mathematical formulas.
{d) The inability to understand technology.
Which of the above statement(s) is/are related to having ‘Emotional Intelligence’ ?
(1) (a)and (d) (2) (d) only (3) (a)only (4) (b)and(c)
& 1208 T SSS0h
(@ S R dh erSSedD, RS grSSed HBoT rddiso 5O trodo,
(b) o388 2r3s05 eI3mrd FHEBD vi0ges.
(€) MeSe Hrimrerdd eSmird TS HOT arsodss.
(d) AroEaESSD Imirs TEBD edgs.
DS THIDAS argpseds’ DEDD ST 18 107 € Sodirds Ho20HODSE 7
() (a)8ci(d) (2) (SMSh (@) (a)SMED (4) (b)28cion (c)
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159. Which one nfﬂwfbllnwmgshlis:s important for a satisfactory personal and professional l:fe?

%1}  Professional skilis” (2) Technical skills

(3} Educational skills (4) Social skills _
DoSHES S S8 JoBckn S8 ASTNE 1808 BYmgdneds DA eS5H85w 7
() S8 Byeassn (2) ArotaE JHeasso

(3) Doy TaPegew (4) "roand Sayeian

160. Read the following statements :
a. Personal values define our character,
b. To love and to be loved is a basic need for humans.
c. The value system would never help people to be successful,
d. With spiritual values, we love the entire human race and care for them.
Which of the above statement(s) is / are correct ? ’
(1) a,candd - {2) bandc (3) aandc 4) a,bandd
& | 80d Srpgerd S50,
a. S38Ke Denden S oy SifEriRy Adowaron, _
b. (Rdoditio Hodn Ravodiadtisny @il Srdde [rdand edddan.
c. Jendw Sgeda T A I HE0 57 Socipgen DachHIoSID BIETNE DTN,
d. eagriadish Dende’ derdd Dby BnSo Ardd el adod a0 arffthe Hdod

Ev g AN T T NS

2065 Th 1288 argpiedS DA/DD Dasdw ?

(1) & cdaind (2) bnBoiwe
(3) aHécine (4) a bdBdMwd

161. Which of the following comes under professional ethics 7

(1} Always supporting the employer only.
{2)  Always supporting the co-workers only.
(3} Giving much importance to personal benefits.

-J,Aj/ Having a sense of commitment to the job.
51508 8S DA 598 S8 (8odd Sod ?
(1) ch2ArdS 25230 @ DS 380 S,
2) &8 a8ibok Sor DS DS A0 SHSh.
(3) Sdgerares I8 Erorasd RS0,
(4) aSisn D8 Dages 58O dodido.
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162. What i is the difference between sympathy and empathy ? Fiivich

\g)/ Sympathy means faalmgs of pity and sorrow for other's mlsfmnme Empathy means the
ability to understand and share the feelings of another.

(2) Sympathy is a verb and Empathy is a conjunction.

(3) Sympathy is positive whereas Empathy is negative, -

(4) Sympathy means the ability to understand and share the feelings of another; Empathy
means feelings of pity and sorrow for other’s misfortune.

renEireds SH0cin HTENErHE ad) St D ?

(1} arehdire eot S0 o¥) Tl i aray Srm Sab, 2 Srddo, Soandira
SOt A¢0t3 58 rad) T8 HTEo wod rh edo Tntseo.

(2) Ardodira |5ch S0cin Do e RHentd ydiw.

() DOErS oDErODIO; ATOLTS HAETFOISO.

(4) TOIre woh 0850 rad) J0 Sy Fmo Dod St edo TntSdo;
TR0 woth oy S8R SR SO, 20 SrdHeo.

163. In owr traditional family system, sons are preferred over daughters by many people because of one
of the following reasons :

Dowry might have to be given to daughters.
(2} Daughters pave the way to heaven.
(3) Itisagovernment policy.
{(4) Sons are handsome than daughters.

& 180d 0S8 D slmdwe SoOd Fodorah Bdvon IiSHS a;':.rzm}.:aﬁai:
©@27008 5T ) JH0S008 Fhiiotrd ?

(1) Sordodyfo SSEeryen 25O Se00SH.
(2) Bordodh; D T8 SrTren S,

(3) D& Domred SSRom.

(4) SSoen Sreud i) odSom drodrda).

164. ‘“Vertical Social Mobility® refers to :
LY~ an agitation against caste system
(2)  the movement of an individual or people or groups ffom one status to another

{3) people’s migration
(4) conversion of religions

‘SBES FLS O wod
(1) Boeo iS558 Siadfor SFordln

(2) 358 =S50 Do Hlrden 2.8 o od DTS oo Srddo
(3) |2 GBSl dendex

4) o 8B

.
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165. The Untouchability (Offences) Act, 1955 was renamed as “The Protection of Civil Rights Act” in

which year ?
SOy Darde &0, 1955 & “Brdsrioe a’mﬁ.ﬁp D" T DD SO DA
A0S 3850 I 7
(1) 1966 wZ) 1976
T (3) 1967 (4) 1956

166. 'Who among the following Greek Philosophers considered ethics a practical rather than a theoretical

subject 7
(1) Aristotle (2) Epicurus
(3) Pleny (4) Socrates

& 508 B%H JFoodosS 5B TEE Dendon DFToSDHITHO rrﬁuuar'
AT 500 R DA a7 %

(1) =Ograd (2) MDErISD
3 W 4 S

167. The name of the Act, introduced to check atrocities against SCs and STs :
(1)  SC & ST Communities Act, 1962
(2)  Prevention of Atrocities Act, 2000 |
43 Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act, 1989.
(4) Protection of SCs and STs Act, 1950
SCen SOEY ST & FPHs5088) SADEoM (DS DOOAS 85 2
(1) JRNA. SO JR.63. Eum e 5o, 1962
@ D3IS 8D AerReSD S4o, 2000 |
B) RErd D) 208 VAETIT RS (DI @D Jerdest) wo, 1989
(@)  1rOis 68D 0.0 e Hdadn JR.e8. & 540, 1950,
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168. Read the following statements : ot

a. Article 15 of Indian Constitution provides equal rights and oppomttutms to all the citizens
without any discrimination.

bes-  Under Article 91(6), the tribals can own property and enjoy it in any part of the country.

c. Reservation in employment is made for the tribals under Article 61(4), 230¢(5) and 353.

d. Article 338 empowers the President of India to appoint 8 Commissioner to look after the
tribal welfare activities.

Which of the above statement(s) are correct 7

(1) bandconly —(2}/ b, c and 4 only

(3) & bandconly (4) aanddonly

& 808 iR S50

a. 2 DSEs Fomr rheoddE rdd oeriofos’D adsS 15 JarS Srdopen,
BIFTT O WO, _

b. @f%S 916 Wedo, wbhen T¥IoSD 2 roS'Er &30 FI3%)
BN OTISHTI,).

e. RIS 61(4) 230(5), 353 |HS G0 wATDhol afiios BB 155 Bl sE o,

d. ®Q3d 338 (H5do, sATVO DoRSH SEIESATOS HE5BLoSarl s
TLROSE 2.8 L20A855 QdbhinoT eds s ol

2 el arpepesS’ DD HBAD ?

(1) bdoddinc Sredsh (2) b, cSobok0 d Sredsh
(3) abBcwc IS (4) ad0csy d S
169. LhJWﬂﬁ:SCﬁﬂﬂﬂ;Htmmhmﬂmemmmnﬂmmmdmﬁﬂn
because they are still :
(1) not part of voters® list (2} the believers of fate
437 illiterate and ignorant (4) live in forests or hill stations
D00, e o 08 orergolio TN BN IS D20SIen ADETAoS Fieo B,
&8 58820
(1) L&dardes SErSS0. 2) DS]RVFToED) SSniST .
(3) DB sodven, 3RS0, (4) 25358 Fois |LHTeS dodto Sed.

170. Reservations as per 73™ and 74® Constitutional Amendment have facilitated
(1) Women entering Gram Panchayats and Municipalities.
(2) lnmmmﬂunumherufwnm&nmlnduama]mtﬂ
(3) Increase in the number of Dalit women writers.
Increase in women’s literacy rate.
PO oreiofi RS 7385, 745 JS800 o 3o, 620 1080 Hor & 1Bod o8BS D8
50N E ?
(1)  Ur Hotransen, Hored Hodreds |Qen 13370580,
(2) FoFSE Sotos |ho dHopssS' DD,
(3) &P D Socnde Jom TSKEID.
: @) 1R o siohis Band DHHSe.
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171. Who among the fullcmrmg tribes in Telangana celebrates the festival of Theej ?

Banjaras (2) Kovas
(3) Gonds (4) Kolams
Boomrod' D AdaS Biart aa Hoddid 2HPTod 7
() ozroren 2) Fchen
(3) HRodoen (4) Feoow

172. During the period of Burgula Ramakrishna Rao as Chief Minister, 2 judicial inquiry was
instituted by the government to examine the 1mplmﬁtm of Mulki rules. Who among the
following conducted the enquiry ?

(1) O.Chinnappa Reddy (2) Pingali Jaganmohan Reddy

(3) ©O.Pulla Reddy (4) K.V.Ranga Reddy

arde TE O Sopiol@mr &) soos Jnd; dnodde eden
HESSOS'D DOHITOD (D850 2.& Trah DTS 28DONOS. & (fod FOS @

NEFS D 20008 55 7
(1) .05 08 (2) Doi® aiS oS B
(3) L.HToR (4) B.D.SomrdY

173. Assertion (A) : The people of Andhra region started “Jai Andhra Movement” as they thought
Mulki rules were against them.
Reason (R) : In 1972 the Supreme Court upheld the Mulki rules as constitutional.
The correct answer is :
(1)  (A)is true but (R) is false.
42T (A)is false but (R) is truc.
(3) Both (A) and (R) are true and (R) is the comect explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
BBIES (A) : 8015 (Frosos'D Haen S0 JodSen i J;BDEESPSSID “B
Go|dd &SRy " Irdodiomrd.
s8®mo (R) : 1972 & Jodho §P snd; daodden w:aﬁ::ﬁorr LRSI
5e3odod.
HBTS DT JobE Fahod :
(1) (A) dzasiw, R (R) S
(2)  (A) &), R, (R) Qdzsadw.
(3)  (A) 28050 (R) Bodo D250, So8akid (R) (A) 50 6T DSSe.
(4) (A)0Bci® (R) Bodir Dazzaaw, 5 (R) o (A) DBTS RS o
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Addal2417

174,

175,

176.

GET IT ON
Google Play

The Parakala massacre that occurred on 2™ September 1947 is .aften. said to be another
wala Bagh incident. What was the aim of the protestors at Parakala ?

Jalli

(4)

(D
(3)

To hoist the National Flag.

23— To boycott the foreign cloth.
{3) To protest against the Nizam,

To protest against the British dominance.
1947 Apoad 2 S 88 2088 Hsre IrdoFho 20008 Sererl adodos

e S5R0. DS ST he Fchihan ?
Ach HEred) edN0oRd0. (2) TP véen 220080580

M0 OS5 S1RTES Bondo. 4)  1DHHad esaHeErd) AERoSO.

Who among the following gave the features of the Telangana Thalli Statue 7
(2) Yekka Yadagiri Rao

(4) K.V.Ramana Chari

& 1808 T8S ‘Boors S8 DHHDE Srabned ad)oTs% 7

(2) Q53 ArSAd TS

(4) B Serod

(# B. Venkataramana Chari
(3) Goreti Venkanna

(1)
)

D). Jois Sderord

AOeS Josd)

Match the following folk songs with those who sang them.

b.
G
d.

a.
b.
<
d

meeda

Nageti Sallalla Na Telangana
Jai Kottu Telangana

Osmania
Kiranama
20 DS e 40 SDoDS faaen/mrabioe s 248 0aN.

arDer - 1 (Adiren)

Campus

List — I (Songs)
Amma Telangana, Podusthuna Poddu

@55)] BOOMTE £rdorS) Srdh Dod i.

el ¥ 7 Bwors
. BTy Swore
AR S 0BRSS ardSanoDS iv.

8805

ii.

iii.

The correct answer is : DOTeS RADAPEFPO :

W

()
(3}
(4)

a
iii
iii
iii

b
it

c
v
i
G
iii

d

i
ii
i
i

-
-n
1.
o
it

Udayinchina

iv.

List—II (Singer)
Abhinava Srinivas

Nandini Sidda Reddy
Gaddar

Pasunuri Ravinder

arDer - 11 (redibBod)
@DSahH IDTH
S8 D BH
t(=ls)
DATE BDoSE

SSI-GS1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

-

T # .
177. During the Telangana peasants armed struggle, the communists, in order to motivate the people
and to improve the political understanding, started recruiting willing youth. What was the name

of this youth force ? ,
(1} Guerilla _A.n‘n@d Squads {2) Free Will Contingents.
(3) Destruction Contingents (4) Self Protection Squads

Boore B daind Mortod |rhe 1heod orzich eldImirsd, IVl D
aEQodarad S5TIRMAre) NSO J00eSs JHSTS. S8 dind 48 JoPHy DR

D ?
(1) Moo dcind 50 (2) 1% DB LotdoZod5)
(3) Ddardo TDH Sot3oBody (4) P3ch SEearys8)
178. Match the following places in Telangana with the traditional products in those places :
~ 1 (Place) List — II (Products)
a. S ipet i.  Khaddar
b. Koqg]a ii. Pearls Boring
c. Chindampeta iii. Gollabhama Sarees
d. P-'[etpilil iv. Paper Making

BOOmrRS'R 1200 oo e 18 DoRDEroLE ad o d 2adGhaw,
anDew — 1 (Aroso) aDer - 11 (s yilen)

2. DL i a6

b. S§%& i, SwEriodo dolgren e
c. SHodo e i, ey Hden

d DB HO iv. SAdo Sird

The cormrect answer is : FODQIAS RATFEFDO © °
a b c d

() diioiv i i
() @i v @i i
G i v i i
) iv  E i i

179. Which of the following was the main aim of the SW
{1) Todo Satyagraha protest when the Parliament session was taking place.
(2) To march to the house of the Chief Minister in Hyderabad.
{3} To march to Jantar Mantar in Delhi.
(4) To dttack Assembly Hall in public gardens.
D535 e (DS aFd Do 7
(1) Srioen HSrJzen 2] SHohHodS Sergier ASHSM mnﬁsb‘o:‘:&do
(2) TrSorarddD SngicHols DTINE dinsm I¥so.
(3) B S oS5 HESB SPHH I¥c0.
(4) DHDErRSIS'D wod) B30 Soed Sahdo.

[c] $SI-GS1 ' s6
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180. Who among the following was the Chairperson of the Congress Core Comm:ﬂe:& which resolved

to divide Andhra Pradesh ?
Sonia Gandhi (2) P. Chidambaram
(3) Pranab Mukherjee (4) Manmohan Singh -
@o|PNTE o) DFBoBTRE SO0 sToin E5 §meﬁ§ & B08 o8
@HISeN Dol 7
(1) &> mrod : 2) . DSoado
3) DS Supd (4) DSIFS ol

181. Assertion (A) : The Mulki regulations were openly violated after the accession of Hyderabad State
into Indian Union in 1948. '
Reason (R) : Many employees belonging to civil and police administration were brought to
Hyderabad State from other states in the name of improving the law and order situation,
The correct answer is :
(1)  (A)is true but (R) is false.
(2) (A)is false but (R) is true.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4)  Both (A) and (R) are true but (R) is not the correct explanation of (A).
IDEIES (A) : 1948 & rSorerdd ardsiios’ DHSHS DD JSndy Dooddos
2erOOH0T P00 288NCH.
PS00 (R) : IS, FOD rpodh Tohds oFE aived DY) olare Hod 25568
F0B |5 VOSoSOtH BHE AT owds.
BT DATETS0 ;
(1) (A) QzSw, 57 (R) 3.
(2) {A)S3) 5N, (R) Desam.
(3)  (A) 0805w (R) Bodr Dezsadw, SHOa50 (R) (A) Ho HOT DS,
@) (A) SH8a0 (R) Bodsr D2:sm 59 (R) 50 (A) S6TS D386 5.

182. Arrange the following agitations in the sequence of their occurrence.

a. Million March b.  Sansad Yatra

c. Palle Palle Pattala Paiki d. Sadak Bandh -
& (800 Dorired e 23005 oS s ioh.

a  ODS Ir0) b, HODHS e

c. DBHT HAr E d DAE 2008

(1} ¢adb (2) b,c,d,a

(3 adecb (4) d,c.b,a
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183. S. Jaipal Reddy as a student leader in 1968 led an agitation of Osmania University Students ™
against the Chief Minister on the issue of the Vice Chancellor’s (V.C.) appointment. Who at that
time was the V.C. of Osmania University 7 '

(1) D.S.Reddy (2) P.M. Reddy

(3) Ravada Satyanarayana (4) Pinnamaneni Narasimha Rao

1968 H0S5SB0S® Dol AHRAT JR. ZrS BY AT cHIrdSe 8 dosPed
@8 Supiuolas Siaddom D DO 0 AoLSDE JoDOKHODN VACHOR
A SR SR, 85 )8 SIS D LD LA DA, a3l 7

(1) &0 0 (2) ®.20.08

(3) oo ddirTroER (4) D3I SGITFoTFTEY

184. The Govemment of India formed the States Reorganisation Commission (SRC) in December
1953. Who among the following was not connected with the commission 7
(1) Justice Bhargava (2) Saiyid Fazal Ali
(3) HN. Kunzru (4) K.M. Panikkar
1953 ARonds o |1DIDSI0 OTL  DO0EES FDAS & (@R.ebd)
JSHWoD0S. Bod ;B EHSE Doodhdn B FVDSHD ?

1) =R0erds @) Dby HadS ed
(3) S0 Svolr (4) B0 5950

L3

185. In 1971 election, the Telangana Praja Samithi (T.P.S.) contested and won 11 out of 14 seats for
Parliament. Under whose leadership T.P.5. was formed 7

(1} li:‘h’+ Ranga Reddy {2) Madan Mohan
Jg}/ P.V. Narasimha Rao (4) Marri Chenna Reddy

1971 dDyEes Boomrsn DHFINS (BD.I0) 14 FToH 11 Foren HeuhSodb.
832,00 50 el 8508" Do yanod 7

(1) 5.2 5ordd (2) DSOS e
(3) 2. IZDoIPoYH (4) SIS I8

186. In 1950 Hyderabad State Cabinet appointed a commiftee to make suggestions for reorganization
of administrative and economic system in the state. Name the Chairman of that committee

{1 Digambar Rac Bindu (2) J.PL.Gwinn
{3) V.P.Menon {4) A.D.Gorwala

1950 & rSTerd ol SHTS KOS, 8dE Sorod’ HIEIPESNT Joes
0TS0 %0 2.8 ¥20¢4 DHoDod. & 20tds e HTI% ?

(1) &hoad oy Doch (2) BB 055
(3) DO DIS (4 Q48 6o

SSI-GS1 xg
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187. Who among the following introduced the Andhra Pradesh Re-orgamisation Bill — 2013 in the
Parliament ? .
{1} Sushil Kumar Shinde (2) A.K.Anthony
(3) Manmohan Singh (4) P.Chidambaram
&1800 0S5 PRotnes “ao|SIHTF HSE 51395 Dey - 2013”7 B (HIF DSBS 2
(1) Zohd S35 hold (2) DB eo8d
(3) SHIDars wol (4) . DSondo

188. Which of the following statements was not true regarding the Andhra Pradesh Re-organisation
Act—20147 :

{I) Amaravathi as capital for Andhra Pradesh.

{(2) A.P. and Telangana to have powers to change boundaries of districts.

(3) To have a common Governor for both the States.

(4) Andhra Pradesh to have districts mentioned in Section — 3.

1808 1HSBHIMOS DO wo|HHTT HIS5IDESL So — 2014, S5 DoOAOD
FaTelnTa R n VI

(1) eo|SDHBTH ©Hor38 TarIT oo,

(2) ©OoIGDHTIT DO BOOMERE AL HOITFPe SrdIFSETrDE OSSO Gode).
(3) Dodb oraPods 2.8 H5515 arodhd,

(4) 35 0dEs00 S BODILY aeo|BHTIS" 2eren dodhty,

139. Who among the following led the Mulki Agitation in 1952-53 with the slogan “Idly Sambar Go

Back”™ 7

(1) Intellectuals (2) Lawyers  (3) Peasants (4) Students

1952-53 &' ‘ad rowrd A 28 oF dodod’ 289 S0d), ASgSTy, (808 D8RSy
TOS IS SEDOT S 7 '

(1) Soorahen (2) arjabardden (3) Dében (4) Aorien

190. The then Chief Minister N.T. Rama Rao appointed the three member committee with Jayabharata
Reddy as the convener to report on which of the following aspects in Telangana ?
(1)  The census of government employees (2) Utilisation of temple lands
(3) Imigational facilities (4) Industrial progress
©38 SuPiHo@d IS8 ocSroed 2cbardS B BNy EndE fhissHmr
AOHDOD), BOOMErS JOVOHONS 2 woFoD ediahssn Fabhlmry & ?

(1) 19dheé s adiihe BEen (2) Booo drsne IDSIrGo
(3) ABHde BECrgen (4) TS D30
191. 'Who among the following depicted the Telangana way of life through his paintings
(1) B.V.R.Chari (2) Midde Ramulu
(3) KantaRao (4) K. Lakshman Goud
1208 OS5’ S Boorrs £SS TR &8 ASTBpaorod’ 1HaDDoDd Fed ?
(1) Db ob (2) 0 ordwen
(3) soEroy 4) B o558
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192. After Ramachandra Réddy of Pochampalli donated land for Bhoodan Movement, Vinoba Bhave
constituted a three member committee for judicious distribution- of lands among the poor. Who
among the following was a member in that committee ?

(1) 8. Yaganti (2) D. Lakshman Rao

(3) V. Veerabhadram {4) Ummethala Kesava Rao

FiodHdS’ TS0 B oS @l iArs 20N SISO 20NN Sorgs, DEBODS
Frswed (Sdador HSes HodaE D% o a8 20850 Achnoordh. & 180d

SO e 006 DTS 7
(1) Q0. ool (2) & eofiod
(3) DSBS (4) G3yde BISoH

193. During whose administration in Hyderabad, Telugu and English languages replaced Urdu which
hitherto was the State language 7

(1) K.M. Munshi (2} Burgula Ramakrishna Rao
(3) JN.Choudhary {4) M.K. Vellodi

DSE HBIreN 1808 o @osISS ©AFS rAr TESAS & aden
Benth, molsn ariien 1534 DYadaron ?

(1) 3 Do S0 @) FrdHo e o
(3) EB2I5TEO (4) 208 s
194. Who among the following was the Vice-President of Telangana Praja Samiti during 1969
Telangana Movement 7
(1) Madan Mohan (2) Sumitra Devi
(3) Konda Laxman Bapuji (4) Sada Laxmi
1969 BoOMPed &S50 DoDo S Boromes D2 HIEd SIrdSsEoen S ?
(1) 88 IS (2) SodolE T
3y Foo ofio iy (4) [orefy

195. Which among the following was not part of the Gentlemen's Agreement ?
(1) Telangana students had 3 : 1 share in educational institutions,
(2) Surplus revenue from Telangana to be spent for its own development.
(3) Continued Mulki rules in government jobs.
(4) Sale of landed property was controlled by Telangana Regional Council.
Bod are3 DG e dodod grio FRE O T
(1)  DorgHoPS, Soors Dorsdhosn 3 : 1 288 Pare Seranod.
(2) Soors |rosod ST @08 8oradirad) @ [Tros edSye% dddriood,
(3) 1D adireod Sud) Daodde THIN0D.
(4) Swomrs l_a:roéc:ﬁ: S0088 eddsod Siodah Srdven @nigo.
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196. When the Telangana Political Joint Action Committee with all pro-Telangana Parties was formed
with Prof. Kodanda Ram as the convener, which of the following parties did not join in it ?

{1) C.PL(M) {(2) T.R.S.
{(3) Congress (4. T.DP.

Soomrad P fo oadah Thods 1 FHoBTS EDHISBT BB Booms
oradch 2ronodS aird S $uidS I orzlch rE DA 7

(1) DD (D0) (2) Babadh
(3) solfv 4 345

197. On December 28, 2012 U.P.A. government convened an All Party Meeting in Delhi on
Telangana. Match the following parties with their leaders.

List — I (Parties) List — 1I {(Leaders)
a. Congress i K. Narayana & Gunda Mahesh
b. Y.CP. it. Raghavulu & Julakanti Ranga Reddy
¢c. CPIL iii. Mysora Reddy & K K. Mahendra Reddy
d CPM. iv. Suresh Reddy & Gade Venkata Reddy

2012 S0 28 &5 85 din.D.e) D0 50 BOME DACHOT a8 ®PODE DTrIT )
Qom0 Thod. 180 BODS arfen, e orohios 2SHEHaw.

Do -1 8o ; arder — 11 (Pradbioen)
a. SOt . B aocho & hoar HBn
b. BAD. i. Oaveden & amo¥odd Sorde
c. Do iii. oard 0@ & 3.3, Serold 8@
d. DH.oHo. iv. ol B & mS 303400

The correct answer is : OS DAFrTd0 :
a b c d
(1) iii v ii i

2 i i v i
3) i iv i i
) iv i i i

198. Who among the following carved the ‘Gun Park Martyrs Stupam® at Hyderabad in memory of
those killed during 1969 agitation ?

(1) B. Venkataramana Chari (2) Ekka Yadagiri Rao

(3) Pushpa Narayana (4) Ambati Surendra Raju

1969 &S00 @XiHBS o0 FHsdo Trdorerd SR B8 FB poE ardy’
EFEroSHOtIS T 5% 7

(1) D Jodd e =d (2) 57 ArSABTS

(3) &ory orcbes (4) woe3 lo|d oo

SSI-GS1 |- 61
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199. Which one of the following statements is true with regard to the All Party Accord that arrived in
January, 1969 at the initiatives of the Chief Minister Brahmananda Reddy on Mulki rules ?
(1) Those who obtained jobs by using fake Mulki certificates were to be transferred.
(2) G.O. No. 36 was issued to retain all Non-Mulki as Andhra employees.
(3) Persons employed in Telangana against the Mulki rules were to be regularized,
(4) Mulki rules were to be applied even to autonomous organisations besides government
departments.
SO (2957508 B TESSE 1969 23550 50808 eado HE aoymod” sndy
D0 HBOD &80 TS BB 1HSDS0 IS ?
(1) S 30d) JHissved aired FodS FE505B 260 Faird.

(2) G.0. No. 36 e TR, Boorad sud) md TG5080 sold alitbeor

TIhoD Daird. _ .
3) Boormd b Jwoddody  IHaBS5or AoHoIRAS  FOOSOD
EonSESe Tasrd.
4) Sodp Ddwoddod 1Hbés Do Irad mE asd Jool Srd

S 5o00d Taird.

200. Assertion (A) : There was great jubiliation of the people of Telangana over the Supreme Court

Judgement on the status of H}rdernbud city.

Reason (R) : In October 2009 the Supreme Court ruled that Hyderabad should be treated as “Free
Zone’.

The correct answer is :

(1) (A)is true but (R) is false.

(2) (A) is false but (R) is true.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

{(4) Both (A) and (R) are true but {R) is not the correct explanation of (A).

IDBIES (A) : TET 85 Fon do FPH Sy Bendds Ioed Buors

Hzen ) edoSer)3r'od HESTom.

eS5m0o (R) : 2009 oofabS Xoho £ rdoerdd “d =57 ™ Jotuodd 8
=08,

HOTS DIrErSHo

(1) (A) Dzdw, 5% (R) $3).

(2) (A)S3) R, (R) dasaw.

(3) (A)8C5 (R) Bodr 235w, Sodais (R) (A) %o S80S DS,

4) (A) DB (R) Bodr e, 570 (R) 50 (A) SOTDS DSiSes S0,

[c] SSI-GS1 62
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